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Topic:- Grad_Nutrition and Health

1) Pneumonia occurs due to the infection of:/ <IHIf~aT P hHUT & HRUT gl gl
1. Bacteria/ SfdTq]

2. Virus/ fasmg

3. Bacteria and Virus/ STaTo] 3fiR fasmy

4. None of these/ s:n?r I ﬁ'&‘ T&ﬁ

Correct Answer :-

« Bacteria and Virus/ SiaTo] 3R fawmy

2) ORS is administered in:/ # sftemuy fear rar g1
1. Diarrhea/ GUgUft (G%)
2. Constipation/ ®osl

3. Anemia/ YaTedd (THIHA)
4. Goitre/ BT (TgeR)

Correct Answer :-

« Diarrhea/ I3guft ()

3) Chronic poorly-controlled high blood pressure before and during pregnancy is associated
with an increased risk for maternal complications such as:/ THIaRIT A Tl%ﬁ 3R I T:fRFI,
Srdwifere, TR1E 4 A fFafa = e, 3nfe wrg wifeerarsi & wifaw o gfs & TafRe 8

1. Preeclampsia/¥iuaciiarar

2. Placental abruption/ A TYFHUT

3. Gestational diabetes/ THIRITD T I[?{ﬁ's’
4. All of the above/ GCPQIT:H vt




Correct Answer :-

« Al of the above/ Suad Tt

4) National Programme for Control of Blindness (NPCB) was launched in the year:/ ?Tfl’q SRl
fra=ur i H (NPCB) &1 3R Ty o T T u:

1. 1956
2. 1976
3. 1986

4. 1996

Correct Answer :-

e 1976

5) Bleeding gums are related with:/ 'Flﬁff LECSEIC] - LR CING %I
1. Thiamine/ Yraff

2. Vitamin A/ faeTie A

3. Vitamin C/ faeTf# C

4. Folate / TIdie

Correct Answer :-

« Vitamin ¢/ fdefi= €

6) School tiffin should provide:/ faemed} fefra & foren arfeul

1. Fifty percent of daily requirement of calories and protein/ aRT 3R WEH & ¢ T BT Ta
|G|

2. One —third of daily requirement of calories and protein/ HART SR U B S saxgesar &1 Wﬁ%ﬁ

3. One- fourth of daily requirement of calories and protein/ FHART 3R UIEH o1 AP 3axgeral &1 Uh-ariTs
4. None of these/ E:I'ﬁ[ I ﬁ% gl

Correct Answer :-

e One —third of daily requirement of calories and protein/ FART 3R WA B ¢Fp Wﬁwﬁ?ﬁ

7) In adolescence Bulimia Nervosa is a disorder of:/ fF=NRTaRTH T FeiifPrar Fatan T
faeR 3

1. Liver/ I%d (faaR)

2. Kidney/ 3a% ([af)
3. Eating/ GFI-UHT



4. Drinking/ 9goT@

Correct Answer :-

« Eating/ WF-GHT

8) Which of the following is not a sexually transmitted disease (STDs) during pregnancy:/ Eﬂﬁﬁ
B, TUTGRIT & SR BT AN IJ=Ta I (THET) T8 2

1. HIV/AIDS/ HIV/AIDS (Qﬂ&ﬂé?ﬁ/@)

2. Anemia/ YaTeddT (THITHA)

3. Syphilis/ fftrfer

4. herpes and hepatitis B and C/ RCISAE] %ﬂ?ﬁﬂ?ﬂ B dur %ﬂ?ﬁ@ﬂ C

Correct Answer :-

« Anemia/ YT (TN

9) Rich source of Niacin include:/ faTRM @1 qH&K wag
1. Spinach/ UTcleh

2. Whole cereals/ igd 3{-Tsl

3. Maize/ HddT

4. Eqgs/ 318

Correct Answer :-

» Whole cereals/ 91dd 3

10) Goitrogens are the substances that interfere the metabolism of-/ Mgcle d Uy g ot
& JUIITY | gIGY Hd 5

1. Calcium/ P

2. Iodine/ MASH

3. Vitamin A/ faeT®= A
4. Vitamin B/ facif®+1 B

Correct Answer :-

« Iodine/ 3MAISH

11) BCG vaccine given at birth prevents the:/ 5 & 99y & WM arelt BCG dRiH Cd|
JAHUTH Bl 7

1. Any type of cancer/ f&at +ff TR F FIR
2. TB and bladder cancer/ TB G?ITW PR



3. Only bladder cancer/ Had TARE PR

4. Only TB/ %ad TB

Correct Answer :-

e TB and bladder cancer/ TB 3R WW

12) Phosphorus in grains is bound with:laFﬂTrff T BrEpRY ¥ SafRa giar %I
1. Oxalic acid/ Safere 3

2. Phytic acid/ BRIfC®H 3T

3. Mallic acid/ #fci® 3t

4. Nucleic acid/ Jfadd 3T

Correct Answer :-
« Phytic acid/ BRIfC® 3

13) The NPR method of evaluating protein quality is based on:/ WIdiH UrGaT & H&id- H1 NPR
fafdr TR 3T B

1. Growth and body weight changes/ 3f& Td TRR YR & URad-1
2. Carcass nitrogen analysis/ <8 -3c ol fa=ersoT

3. Nitrogen balance/ IS e
4. Pattern of liver regeneration/ dhd EEITrf:F[ Eafvr]

Correct Answer :-

» Growth and body weight changes/ q@ T4 IRR YR & gRaGdHl

14) Diet of a protein energy malnourished child should be:/ WEH-&ul UG a2 & BRI
CIGIEE Y]

1. High calorie/ 3 HaRt

2. High in protein/ 3F WA

3. High in vitamins and minerals/ 39 e 3k @fwr
4. All of the above/ Iuad Tt

Correct Answer :-

« Al of the above/ Iudad Tt

15) WHO removed India from the global list of Polio endemic countries in the year:/ fay w@reg

WIS (WHO) 7 B URA B UIferdT HETHRT a1 G0 @1 Af® T | q1ex o feam T

1. 25th February 2010/25 WRaxl, 2010



2. 25th February 2012/25 HRax}, 2012
3. 25th March 2012/25 |, 2012

4. 25th March 2013/25 A, 2013

Correct Answer :-

« 25th February 2012/25 BRdx1, 2012

16) BMI can be calculated by:/ BMI &1 0T &1 G 8 —

1. Weight (kg) / Height? (m)/ HR (/) / Tiar? (+f1)

2. Height? (m?) / Weight (kg)/ TiaTs? (H12) / 4R (fam)

3. Height? (m?2) / Weight? (kg)? / TaTs? (H12) / Y2 (fom)2

4. Height? (m2) x Weight (kg)/ @amg2 (H12) x 4R (f&3m)

Correct Answer :-

« Weight (kg) / Height? (m)/ HR (fe2m) / a2 (+f)

17) DTP vaccine prevents/ DTP AR ___ &} JAUTH &t g
1. Diphtheria/ fewifar

2. Tetanus / féeq

3. Pertussis/ TeIR™T
4. All of the above/ SRIad T+t

Correct Answer :-

« All of the above/ STRIGd Tt

18) Still birth and neonatal death rates are high among pregnant women belonging to:/

arelt mefad gt & ga Ry 5= iR Tawid gog o 3if¥ie g1 §1
1. High socio economic status/ 3= grTfoTe-3nfies fRufa
2. Middle socio economic status/ H&IH grATores-3nffe fufa
3. Low socio economic status/ g grTores-3nfdfe fRufa
4. Very high socio economic status/ 31fa = gHIoTE-3fife fRufa

Correct Answer :-

« Low socio economic status/ 4 o -enfie fRufa

19) World immunization week is celebrated in:/ ﬁ%{ uﬁ'\r&ﬂw qdle ¥ AT ST %I



1. Last week of April/ 310d & 3if<H I8
2. Last week of March/ ATE & 3ffH g
3. First week of April/ 30 B YYH e

4. First week of March/ A & UYH qidlg

Correct Answer :-

« Last week of April/ 30d & 3ifaq T8

20) Children at greatest risk of developing severe complicated measles include:/ ®9 q g

TR, wfee @R faefd 89 & J9d 3ifye SiRaw # gd &:

1. The young, particularly those who are under one year of age/ B Eléf, oy =9 9 9 ot 31 Uh ¥ g
2

2. The malnourished (children with marasmus or kwashiorkor)/ $UINT S (BREY T HIRROR J Hed 5=)

3. Those living in overcrowded situations (e.g. the urban poor, refugee/ R aﬁgu@aﬁﬁf@ﬁmﬁ LGl
I T (S e e, RO anfe)

4. All of the above / ITad It

Correct Answer :-

« Al of the above / Iudad T+t

21) In animals which vitamin has an important role to play in the reproductive process and
reduces the number of spontaneous abortion and still birth:/ U3 ¥ -1 ferf®m weq= uftear
T Ayl YT FruTar g iR Ta:vafdd mura vd ga Rig) 5 #t e gerdn §:

1. Vitamin-A/ faeTfi=-A
2. Vitamin- C / faerfé=-c
3. Vitamin- E/ fdeifiH-E
4. Vitamin- D/ facif@=-D

Correct Answer :-

« Vitamin- E/ fdef=-E
22) On World Health Organization declared India as a Maternal and Neonatal Tetanus
free country:/ D1 fay TG WIS A YR B A Td Aaurd fee— gad <=1 gifdra foear o

1. 15 May 2015/15 T3, 2015
2. 15 May 2005/15 g, 2005
3. 15 May 1995/15 g, 1995

4. 15 May 1994/15 T3, 1994

Correct Answer :-



« 15 May 2015/15 Ts, 2015

23) Which of the following is not comes under the National Health Mission schemes:/ Eﬁﬁﬁq
P FTRY R gieel & srtd A8 o 3

1. Rashtriya Bal Swasthya Karyakram/ J1$10 STd T4 HRIGH
2. Janani Swasthya Shishu Suraksha Karyakram/ S==t TaTred fR1g] qR& HrRIH
3. Obesity Control Karyakram/ HeTaT fE=01 SrisHH

4. Navjat Shishu Swasthya Karyakram/ -Tasiid fRI] W4 HRIHH

Correct Answer :-

« Obesity Control Karyakram/ HieTar fAg=01 HRigsH

24) Which one of the following medication can be used for the newborn eye care?/ Hﬂﬂ'ﬁﬁl‘ilj&ﬁ
P 3@l B YT F fore 379 | 5w gar &1 IuahT fovan o wahar 82

1. Silver nitrate solution 1%/ feax TR¢e faaa 1%

2. Polyvidone-iodine solution 2.5%/ GIfd8H- 3RS fd@a 2.5%
3. Tetracycline 1% eye ointment/ %@'IFTCFI%F[ 1% 99 A8H

4. All of the above/ Judad Tt

Correct Answer :-

« Al of the above/ Sudad Tt

25) Which of the following statements is incorrect:/ g:lﬁ' J -9 YT W%—

1. People who are exposed to TB may or may not develop TB infection/ TB & Yy H 3 a1 IR A TB
errT A Rid g1 ot T 8 ok e ot

2. People with TB infection may or may not develop TB disease/ TB THHUI ¥ Uxd @FTi H TB T faHRad gt off
a1 § 3R el oft

3. Risk of developing TB disease is highest in first 2 years after infection/ TshHUI F §Ic & Ugd 2 Iuf H TB AT
fAoiid 8 &1 Jiad ai® gidl &

4. Every individual exposed to TB develops disease/ TB F TGP H 3 91 g G | g8 I fasRad g o %

Correct Answer :-

« Every individual exposed to TB develops disease/ TB & ¥Ud H 3 dTd 8% fad § I8 T [aawRid g1 S

26) Calorific value of carbohydrates is:/ ﬂﬂﬁ?ﬂ%? BT AR A %:
1. 4.0 kcal/g/4.0 fralibarl/am
2. 6.0 keal/g/6.0 fhaimaRyIm™



3. 7.0 keal/g/7.0 TRy ™
4. 9.1 keal/g/9.1 fhaNBaRYyImH

Correct Answer :-

e 4.0 kcal/g/4.0 fFaBFaRlAm

27) glinimum age for first dose of varicella vaccine is:/ 3@ aRAT B ugelt EENED %ﬁ gAdH
3 %:

1. 6 months/6 HIg
2. 1 year/1 qy
3. 3 months/3 HIg

4. 15 months/15 HIg

Correct Answer :-
e 1year/1 Gl

28) Which of the following is not a signs and symptoms of marasmic child?/ gﬁﬁaﬁq R
a9 1 GHa I T&0r T8 22

1. Muscle wasting/ Uzt e
2. Growth retardation/ q@ i} g1 S

3. Moon face/ Is-gd
4. Dehydration/ EENIERUI

Correct Answer :-

« Moon face/ Tg-H9

29) The advantages of skin-to-skin contact of baby after birth are /is:/ ST F TG ﬁr{[ q AT &
i T1--T1-F Hudh BT /T ATY gl 3?2

1. The mother keeps the baby warm/HIdl 131'-‘2; Eakie CEIMRRGER] %

2. The closeness between the mother and the baby helps the mother become attached to her baby/ATdl 3R
R3] & ot o) weftuar @ Arar o Rig] ¥ Jea/da 30T g1 8

3. The contact helps make early breastfeeding successful/gd U T RIS TUH B gidl %
4. All of the above/ Iuad Tt

Correct Answer :-

« Al of the above/ Sudad Tt



%Duration of whole pregnancy is divided in:/ '\“I'lIUf Tyfawyr &Y safy &t o faurfora foar wan
|

1. Two trimester/ &I fawiigat
2. Three trimester/ < fawfgal
3. Four trimester/ TR fawfgal

4. Five trimester/ TTa famigar

Correct Answer :-

e Three trimester/ diF fawfea

31) Which of the following is not an airborne disease?/ ERL K] P Th EITg-HT%Hﬂ"T T8 82
1. Chickenpox/ IIPH

2. Influenza/ ST

3. Anthrax/ Q:QEFH

4, Cholera/ %GIT

Correct Answer :-

e Cholera/ %\_rﬂ

32) The incubation period of tetanus is usually between:/ féea9 &T AMga HTd (F-FAIH
TRTs) smdaR w® F ST e:

1.3 and 21 days/3 ¥ 21 faT
2. 3 and 40 days/3 ¥ 40 f&
3. 3 and 50 days/3 ¥ 50 &

4. 3 and 60 days/3 ¥ 60 f&

Correct Answer :-

« 3and 21 days/3 ¥ 21 &

33) The biological value of egg is:/ 308 BT AP AFE .
1. 100

2. 96

3. 66

4. 50

Correct Answer :-

e 96



34) If the malnourished child having the symptom of oedema then they classified according to
the:/ afe FUIfa 9= & TSHT (RA THA B & HRUT §5 JoiT) BT A1 g1 af 39 & ER
Fiffepd fsar s 21

1. Waterlow classification/ @Tcxal aiifeaur
2. Welcome classification/ d&H iUl
3. Gomez classification/ TVEST a¥ifepRUT

4. IAP classification/ IAP geffepur

Correct Answer :-

* Welcome classification/ IABH BT

35) Additional protein during pregnancy is necessary to meet tissue demands posed by:/

& PR IAF g3 SHad g 7 &1 gfd & forg mufawn # sifafved M € snaxasar g 31
1. Rapid growth of fetus/ TH®y R & fig gfg
2. Formation of amniotic fluid/ 3v@ TRd (TRTIR® Fags) & AT
3. For the transfer of amino acid from the mother to fetus/ TTAT ¥ THR R HT 3T 3 & RIFFRO
4. All of the above/ Judad Tt

Correct Answer :-

« Al of the above/ Iudad Tt

36) For the confirmation of pregnancy which hormone is tested in blood:/ TYHERIT FY gf@ & ﬁl‘Q
T ® 5 gl &1 udteror fam o 3:

1. Thyroxine hormone/ YRRITRTT B
2. HCG hormone/ Tardisft g1AH

3. Insulin/ SYfeH
4. TSH hormone/ d U g“ﬁﬁ:{

Correct Answer :-

« HCG hormone/ T=RIISTt gTHFH

37) Normal iron requirement for an adult woman recommended by ICMR 2010 is:/ ICMR 2010
ERT TP UfedT 3q SRR JTHRT SRR ATaRgH T 8:

1. 38 mg/day/38 faa/faa
2. 21 mg/day/21 /e
3. 15 mg/day/15 fem/fa
4. 10 mg/day/10 frar/fe



Correct Answer :-

« 21 mg/day/21 /e

38) Cow’s milk is a poor source of:/ T BT g¥ Ca) '\‘l’ﬂ&'\ﬂﬁﬂﬂﬁ%l
1. Vitamin E/ faeii@= E
2. Vitamin A/ faeTi#eT A
3. Vitamin C/ faeTf# ¢
4. Vitamin D/ faeTf®= D

Correct Answer :-

« Vitamin ¢/ fdeifi= €

39) Monkey face is a symptom of:/ dI-R 9
1. Beri- beri/ 99-s3t

2. Marasmus/ R

3. Kwashiorkor/ HRROHR

4. Scurvy/ Thdl

Correct Answer :-

o Kwashiorkor/ ®1R IPR

40) Which of the following tests are banned for diagnosis of tuberculosis:/ SIERFARN & g
(T8ET) & fore 39# | ®i9-91 udtervr yfaafd 8:

1. Culture/ FaeH (Fer)
2. ELISA/ UTTSwTT (ELISA)
3. PCR

4. LPA

Correct Answer :-

o ELISA/ TSIl (ELISA)

41) The Probiotics include:/ Wiafea & =i @

1. Non digestible food ingredient/ Ul W< Ych

2. Digestible food ingredient/ U Wl Ych

3. Live microbial feed beneficial for human beings/ Tg’@ff%ﬂ AHDHRY Shifdd q&nﬁﬁa: U
4. Dead microbes / Hﬁﬁ&ﬂﬁﬂa’



Correct Answer :-

« Live microbial feed beneficial for human beings/ Ilﬁﬁlfr%_g{ AYH R Siifdd ﬁ&ﬂ@% o

42) The diet of a pregnant women should be well-balanced and should not be included:/ et

HigAT & SER P Aferd g1 AT 3R IaH Tmfde e g =nfeel
1. Fresh fruits/ QT dl

2. Alcohol/ Tebigd

3. Grains/ 3T

4. Vegetables/ gfosf

Correct Answer :-

« Alcohol/ Tehigd

43) Increase in energy requirement necessitates the additional intake of:/ Soll raRgddr o q@,
¥ Sffafvaa sraudgur & smaxag® Hedl 3|

1. Vitamin- A/ faeT&=-A
2. Vitamin- D/ faeTf®&=-D
3. Vitamin-C/ faerfi=-c

4. Niacin/ o=

Correct Answer :-

« Niacin/ o=

44) Retinol, supplied to the retina in blood is converted to retinal, which then combines with a
protein called opsin to produce a purple pigment known as:/ & % a1y J e (zfdued) #i
3y g arar ¥eta, A A g A g St AMMPA TP G WS AFS P A& 9T+
quics I Hal gl

1. Retinol/ Xfe=Tat

2. Rhodopsin/ i

3. Carotenoid/ IRICAISS

4. Beta- carotene/ SieT-BRIcH

Correct Answer :-

« Rhodopsin/ ISR

45) Red palm oil can be incorporated into supplementary food including the ICDS and other

programs to improve the:/ ﬁ‘aﬂ?ﬁa? ﬁnz &rréwﬂﬁwwﬁa Wmﬁ'w YsH A S
T 97 M T o I &



1. Vitamin C value/ faei®= c 79
2. Vitamin A value/ fae1®a A A9
3. Vitamin B Value/ fdeifi= B 99

4. Vitamin K value/ fdeii= K a9

Correct Answer :-

 Vitamin A value/ faefa A aF

46) The principles of meal planning includes:/ HISH & TIoHAT T4 & Rigr=at # i 8:

1. Meeting nutritional requirement/ qior Wﬁqﬁm

2. Individuals likes and dislikes/ SfaT &1 TH< 3R ATUG<
3. Should save time and energy/ THY 3R Fli ! gad g1 ATRT
4. All of the above/ IWRIGd T+t

Correct Answer :-

« All of the above/ IWRIgd I

47) Infant mortality rate is the number of infant dying in the first year of life per:/ ufa
W Staq & guyd af | 1A ard Aaeid Rigpsif #Y @@, Tard g o) deard 8

1. 100 live births/100 Sfifad S
2. 1000 live births/1000 SHfdd 5=
3. 10000 live births/10000 Sfifad S

4. 1,00,000 live births/1,00,000 Sfifad S

Correct Answer :-

« 1000 live births/1000 SHfdd =t

48) Which of the following is not an etiological factor of child malnutrition?/ s=|1?r Y PN I

FUIYI BT 3 PRSP T8I 82

1. Social and Economic factors/ SIS T i feufa
2. Colour of the child/ s &1 &7

3. Infections/ ThHUT

4. Unsanitary living conditions/ 3Ra<3 Sfia- feufaat

Correct Answer :-

« Colour of the child/ S BT 3T



49) On 12th April 2005 which program was launched by the Hon’ble Prime Minister of India:/ 12
3T 2005 FHt YRA F AFHIT FUTHT gRT o5 FRIT SR far i o

1. WHO

2. ICDS

3. National Rural Health mission / TFQJIH‘;ITJﬂUT Wy ffwH
4. Mid Day Meal Scheme/ HT& WIS AT

Correct Answer :-

« National Rural Health mission / IT§Ta ITHIUT Ty fA=

50) ICDS comes under the ministry of:/ICDS HATad & S=id 3mat %:

1. Ministry of Health & Family Welfare/ Y=g Td URAR Hedmol Haad

2. Ministry of Women and Child Development/ Afgdl Td §1dt fawm #amag

3. Ministry of Consumer Affairs, Food & Public Distribution/ JUHiET Eb‘rff, W T4 S faaRu Ay
4. All of the above/ Judad it

Correct Answer :-

« Ministry of Women and Child Development/ Hfgd Ud aTd fdw ™ dAed

51) MMR vaccines given for the prevention of following diseases:/ I B ABUYH & ﬁ-l‘l;l
MMR aRfiF & wredt 81

1. Measles, Mumps, Rubella/ HSTeT (TRRT), A (ORI TAST), Foal

2. Measles, Mumps, Yellow fever/ HIOT@T (TERT), TR (HOTHERIYI/TARGSM), Ta BiaR (Uid wR)
3. Mumps, Yellow fever, Polio/ TR (SHUTERI/TAS), Teh WiaR (Fid SR), Tifert

4. Polio, Mumps, Rubella/ G, 7P (SHoTHa=i/Tega), Sad

Correct Answer :-

« Measles, Mumps, Rubella/ HSTe (TERT), HH (5 OTHE=/ TG 3M), ST

52) Which one of the following method cannot be used to assess the nutritional status of

children?/ S 1 ivor fRUTT FT Spa B3 & g 37 & frw fafl &1 Iuahr =81 fovan s wwar g2
1. Body weight/ IRR &1 aoH

2. Height/ a8

3. Waist Hip Ratio/ SHR-Hdw Surd

4. Chest Circumference/ BTdl &I TR

Correct Answer :-

« Waist Hip Ratio/ ®HR-Faw S{UId



53) Protein — Energy deficiency may cause:/ MEH-3uil &1 HH! A 397 A T 81 JobdT &
1. Muscle wasting/ BEIR

2. Growth retardation/ q@ ofieft Eﬁ SIHT

3. Both of the above/ SWRIad gHl

4. None of these/ s:n?r I ﬁ'&f T8l

Correct Answer :-

« Both of the above/ SWRIgd gl

54) The internationally recommended Directly Observed Treatment Short-course (DOTS)
strategy is related to the following disease:/ U 3@?@3 yde&d: UfEd STAR Seushyd
(STRTEH! 3ifseres dlefie qe-HIY, DOTS) YU 374 | fF 1 A grafa @:

1. Typhoid/ TAWIZS
2. AIDS/TSH

3. Tuberculosis/ &3 INT (CERGAIR)
4. Polio/ Mferat

Correct Answer :-

« Tuberculosis/ &3 INT (CISRP AR

55) Which of the following vaccine can be given through oral and intramuscular route:/ ?Flﬁﬁ

F-0 AR P71 o= 3R SR MY F gr1 fam w1 v @:
1. Hepatitis B/ fgdersfca B

2. DPT/ Sidict

3. Polio/ Giferat

4. Tetanus/ fdeT9

Correct Answer :-

« Polio/ Tifera

Topic:- Grad_General Knowledge and Logical Ability

1) DIRECTIONS: Study the following pie chart carefully and answer the
question given below./ﬁﬁ!ﬂ: IGLIIECE] tITéiITé'W o HWW%%E‘TEUH%
IR e |

Budget estimated by a family for their monthly expenses/ U& Uf¥aR gRT

ST @d T gl



Total Budget;"gﬁl’ g3 = 32000

Miscelleneous,/ T,
& =@, 7%

Food/#i1atsT, 15% 25%
Clothing/&493T,
8%
Education,/T2em,
21%
Electricity/Tdedd,
19% Cell Bill/ATE=a
T, 5%

What is the difference in the amount estimated by the family on Electricity

and food?/ URER gRT fayd MR WIS W SrgaTf~a Wd &t IR HT 3R F1 32
1. Rs.1,920/%.1,920
2. Rs.4,160/%.4,160
3. Rs.6,080/ %.6,080
4. Rs.1,280/ %.1,280

Correct Answer :-

« Rs.1,280/%.1,280

2) DIRECTIONS: Complete the series by choosing right figure from the given
choices./ fFzr: fau 7t faweat # & T3 faweu &1 999 3 A0 & R B

(@ () () (d)

p




\E

Correct Answer :-

3) According to the Commission of Sati (Prevention) Act, 1987, which of the
following women cannot be called ‘Sati’? &<t af¥fa (Treram) srfarfRam, 1987 & siasia
9 & F a9 AigATS H7 FAT HT A0 F T@T A1 AT GHAT 872

1. A woman being burnt alive along with the body of her relative voluntarily / Ts ®fgaT
TIFhT 3T e q¥aeell o g % AT 37 TAogTa® ST [4d7 ST TET 8

2. A widow being burnt alive along with the body of her deceased husband forcibly /
U HigdT (ST 999 gaF 91 & a8 & a1 Taeaed! ST GF1 T @ g

3. All of these / 373 =T
4. None of the above / z% & #T$ 721

Correct Answer :-

« None of the above / T7® & #I< g1
4) Polymeric materials are:/ fEddsaa agaa%’m gerdf %
(i) Glucose/ qHT

(ii) Cellulose/ SgaT

(i) Starch / W

(iv) PvC / didit

The correct answers are: / 9 3} %
1.1, ii and iv

3.1, ii1 and 1v

4. 1, ii and iii

Correct Answer :-

5) Which year did the Food Security Act come into force? / @Ter & sfar«aw
g ad § A T maT?



1. 2011
2.2012
3.2013

4. 2014

Correct Answer :-

« 2013

6) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ﬁlﬁ'!ﬂ: frrafafed vy o yyars e ) & R
TR T B AT /I ST 2

(32.13)2 + (23.96)2 - (17.11)2 = ?
1. 1250
2. 1410
3.1560

4. 1313

Correct Answer :-

« 1313

7) What percentage funds did the Central Government contribute in the
Ashram Schools in the Tribal Sub-Plan Areas for states? / W%ﬁlﬁﬁ?\ﬂ?ﬂ'ﬂ
IU-gIoAT § 3meH faemaa) # F=ia ISR F1 aR1eE fraqr ufaxe siar 82

1. 50
2.70
3.80

4. 100

Correct Answer :-

8) A television broadcast is an example of transmission/ oifae=

TRIRT SIAfRM $1 TH ISR §
1. Simplex / RSP IERS]

2. Half-duplex / 1% i
3. Full-duplex / $d §&idd



4. Automatic /3ffefes

Correct Answer :-

« Simplex / Rocag

9) Consider the following statements regarding Human saliva:/ H9d @R & ¥ & sy & faar
PIfom:

(i) Is a mixture of compounds/ Ug S &1 figor g
(ii) Is acidic in nature/ Ug 319 UHTa &7 g1 &

(iii) Is basic in nature/ g &N YPHTd FT T &

(iv) Has Pepsin / 9% TR Ut Sram &

The correct answers are: / & HYAl B UgAH PO
l.iandiv

2.1and ii

3.1 and iv

4. iii and iv

Correct Answer :-

e iandii

10) Who was the Chairman of the first National Commission for Women? /

TATIH TP AIZAT ATANT & AT HiT A?
1. Jayanti Patnaik / It qe®

2. Mohini Giri / S1fa+t frdy

3. Vibha Parthasarathy / fa«r areameft
4. Poornima Advani / IfUTHT sreaToft

Correct Answer :-

« Jayanti Patnaik / STgdt Teq®

11) A can write 750 pages in 25 hrs. A and B together can write 1350 pages in
27 hrs. In what time can B write 420 pages?/A, 25 %¢ # 750 U3 for@ g&ar g, A
3R B fraer 27 92 H 1350 Yto forRg 9&d 8 | B ®I 420 Yt e # fa=r gwa aemm?

1. 15 hours/ 15 He

2. 18 hours/ 18 ©¢



3.21 hours/ 21 9¢

4. 24 hours/ 24 9¢

Correct Answer :-

« 21 hours/ 21 e

12) Two persons cover the same distance at speed of 50 km/hr and 60
km/hr respectively. Find the distance travelled if one person takes 50

minutes more than the other./<l Afd HHI: 50 forri/eer 3R 60 fpHi/Her & nfa A
TS THT g1t 99 B ¢ | Al T AfaT gav sAfad & 50 Feie siftie wwa dan g, a@ a3 &t
Tt g 91 B

1. 250 km/ 250 f&H
2. 240 km/ 240 fHHt
3. 160 km/ 160 fo&HT

4. 172 km/ 172 foHt

Correct Answer :-

« 250 km/ 250 THHt

13) Who will be the head of the Empowered Committee of the National
Rurban Mission at the National Level? / TFT &+ e ® Feid TOC 9L AT&RTL-ITH
AT & T H19 g2

1. Union Minister of Rural Development / arefior fasme = e @51
2. Minister of State, Ministry of Rural Development / Trsa 55T, arefior faema g=merr
3. Secretary, Ministry of Rural Development / &if=&, o A e

4. Joint Secretary, Ministry of Rural Development / &3 |f=a, ITHIT [ Hataa

Correct Answer :-

« Secretary, Ministry of Rural Development / =@, arior faeme #=mera
14) Vitamin C has chemical name is:/ faeTf_ ¢ &1 @A 9| %:

1. Acetic acid/ Q?ﬁ’% 3T

2. Citric acid / Rif¢® 31w
3. Lactic acid / fded 3

4. Ascorbic acid / TEhIodh 3T

Correct Answer :-



e Ascorbic acid/w 3T

15) How many spermatids are formed from a secondary spermatocyte?/Jdh fada® mﬂw
¥ WHfes §7d &-

1.1
2.2
3.4

4.8

Correct Answer :-

16) If ‘lead’ is called ‘stick’, ‘stick’ is called ‘nib’, ‘nib’ is

called ‘needle’, ‘needle’ is called ‘rope’ and ‘rope’ is called ‘thread’, what will
be fitted in a pen to write with it?/ If¢ ‘de’ & ‘B3’ Fed €, ‘B’ &I ‘A9’ Fed T,
‘e B g’ Ped 8, g’ B TR Bed ¢ o = B U gd €, A WA R b
e Iud @ sTAT I 32

1. Stick/ Tl
2. Needle/ ﬁ's‘
3. Nib/ @

4. Thread/ 4rm

Correct Answer :-

« Needle/ 3{['5;

17) Which one of the following options is/are not true? / % & & Fiwar FeT gt
TEI 872
1. The Hindu Succession Amendment Act, 2005 gave daughters the right to

inheritance with her male siblings / &g IAfa=TE Femrerd stfafaaw, 1956 F gT afedi &
I WAL & T FAEd 7 At Y= B @

2. The Supreme Court in 2015 ruled that daughters whose fathers died before
September 9, 2005 will however won’t be applicable for the Amendment / 2015 &

T F1E T I8 Farar 6t o afeat % far w1 g7 Fawaw 9, 2015 F T3 g7 8, a8 36 F9ed g0
TR o6 T SATEHTT % TIST T8l &

3. All of these / 39 Ty
4. None of these / 7% & #IE &1

Correct Answer :-



« None of these / =% & &g 7&t

18) Which shortcut key is used for print preview?/ &Il icde Hoit e Wy
& for swwTa Bt 82

1. Ctrl+Shift+1
2. Ctrl+1
3. Alt+I

4. Alt+Ctrl+1

Correct Answer :-

o Alt+Ctrl+I

19) How many departments are there in the Ministry of Rural Development?

/ TR e weArer F A A g2
1.2
2.3
3.4

4.5

Correct Answer :-

20) If the numerator of a fraction is increased by 200% and the denominator
5

is increased by 100%, the resultant fraction is . What is the original

fraction?/ afe T fU=1 & 3= B 200% TSTAT SATT 3R & P 100% FSTAT 9T T ufomet
=1 ¢ 8 et ¥ ot F=1 s 22

5
9

=]

4.13

Correct Answer :-



21) Which of the following is found in umbilical cord of mammals?/ AT @ AArfieeT 5]
(Umbilical cord) H UTR ST 8-

1. Placenta/ 3{UR[
2. Allantoic vein and arteries/ STURTNBT RRT 31 Y+t
3. Skeletal muscles/ BT TR

4, None of these/ 371'3[ I ?ﬁg T—|€3[

Correct Answer :-

« Allantoic vein and arteries/ 3TORTUINAT FRRT 31d YHT

22) Average age of a teacher and three students is 25 years. If all the three
boys are of same age and the difference between the age of each boy and
teacher is 20 years, then the age of the teacher is equal to: / WGIWG?R 3
e &5t i omyg 25 o 31 afe il faenfial &t omg w8 9t yads faendf oix
SAATIH DI AT BT 3R 20 99 7, At ATUS Bt MY FhM:

1. 25 years/25 qy
2. 30 years/30 a§
3. 40 years/40 ay

4. 45 years/45 qy

Correct Answer :-

« 40 years/40 ay

23) Harihar starts walking straight facing south. After walking 30 m he
turned to his right and walked 25 m. He further turned to his left and after
walking a distance of 10 m he turned to his left. In which direction is he
facing now?/ g¥eR, Sféur &1 iR T HIF a1 JR= HedT g1 30 Hiex Ieq & 91¢ 98 arg
gedT g 3R 25 Hiex TaaT 3| 98 T 91¢ gSdT & 3R 10 Hew Ieq & uxarq iR d 9w gs
ST 81 39 3uHT g fra fexn & 82

1. West/uf&d

2. East/‘ilﬁ'clc
3. North-East/3@R-qd

4. South-West/f&ur-ufy

Correct Answer :-



24) Fructose is absorbed into the blood through intestinal mucosa by the process called-FfRR #

TFRS PT SHTRIYOT AT AT & Areqd A form ufdean g1 ghar &-
1. Co-transport mechanism/dg —EI'R’TJIE:[ fafer

2. Active transportmﬁ?q ufkdg

3. Facilitate transport/ T faaRur

4. Simple diffusion/ FTYRUT faRT

Correct Answer :-

o Active transportmm ufkag

25) The Pradhan Mantri Adarsh Gram Yojana is a scheme that comes under-
/ T HAT SRSt AT AT A § F e stasta arar g2

1. Ministry of Social Justice and Empowerment / &THTISI =TT 3fi¥ AT&aRTiar #smes

2. Ministry of Rural Development / ITHToT farehTe ®319 T

3. Ministry of Tribal Affairs / ST 1 G119
4. None of these / =A% & #Ts 7g!

Correct Answer :-

« Ministry of Social Justice and Empowerment / STHTIST =TT 3f¥ AfaTiar g

26) DIRECTIONS: Find out missing number from the figure given below./

frdwr: iR & wot erpfa & qw w@ FTa B
ol W g o{ \a3
RS ASA
5 ?:\ T
1.2
2.6
3.8
4. 64

Correct Answer :-

- 8



Till what age does the Rashtriya Bal Swasthya Karyakram aim at intervening
and identifying defects at birth, deficiencies, diseases, development delays
including disability? / TS 9T TaTeeT FTAFT I ATATIHAT & Fohar o it ST T
Rreperivrar afga 5=, 1w, T, e et & F1eor fAwaiar F1 9899 Ud geqs T % w1 98
@T§?

1.6
2.12
3.15

4. 18

Correct Answer :-

- 18

28) Which of the following statements is/are not true about the Indecent
Representation of Women (Prohibition) Act, 1986? / afgaT & stwg wa e
(FFroren) srfarfaam, 1987 wvaeelt wvaT oo a8t A8l 872

1. It extends to whole of India / o8 Af=w ¥ 9°a & A1 &

2. Representation on any ancient monument cannot come under this law / f=T a9

TATEE | T AT TS TTAfATeed 30 AT =aw & Siavid qgl o Tahdl
3. Both of these/39d<k Ml
4. None of these/zH & FIE 7l

Correct Answer :-

« It extends to whole of India / =g sfaff=oa @@ yRa § A1) &

29) Pointing to a woman in a photograph, a man says, “She is the only
daughter of the mother-in-law of my only son.” How is the woman related to

the man?/ T d&R ¥ U AfYa & 3R SURT Fd §Y TP TR pgdl @ fp "ag W
THHTA T3 O A1 & THATA PAl 7' | 98 Afgar o9 Afed @ fora yor awfta 8 2

1. Daughter/‘}ﬁﬁ
2. Wife/Tet
3. Daughter-in-law/43dY

4. Mother/II‘Ty

Correct Answer :-

« Daughter-in-law/97dY



To merge the cells which tab do you use? / Tdl &I #6 $31 & oW 3y H=9-41 a9
SUURT Hd 32

1. Merge tab / ol ¢F
2. Number tab / Fi&R &

3. Style tab / WTsd ¢d

4, Font tab / Bi< cd

Correct Answer :-

« Merge tab / ol ¢d

31) Which of the following option is not true about the Prevention of Women
from Domestic Violence Act, 2005? / = a1 & wigaT d<err sttaraae, 2005 qvaweft
5 # & Fiar e 981 781 872

1. Both mental and physical harm is included in this Act / =& st aw & wafEe vd
ST STIgTe T 9Tfie

2. “child” here refers to person below the age of 18 / =& arfarfa=w & “arars” 1 97 & 18 T
T FH IY FT ATH

3. Both of these/39a<F =1
4. None of these / g% & &g 7t

Correct Answer :-

« None of these / za% & &g Tl

32) In slide layout panel how many layouts are available for text layout by

default?/ TTSS AAIC U7d | fEpie U I TR A3ASe & g foraa Aense Iuasy &
1.4
2.7
3.12

4.6

Correct Answer :-

. 4

33) What will be compound interest on a sum of Rs.5000 at the rate of 10%

per annum after 2 years?/ ¥.5000 31 IR W 10% T E 19 $t 3 A 2 01 § Ihgfs
TS T g2

1. Rs.1050/%.1050



2. Rs.1250/%.1250
3.Rs.1150/ %.1150

4. Rs.1550/ %.1550

Correct Answer :-

« Rs.1050/%.1050

34) The dental formula of an adult human is represented as :/J® qY¥Dh A G aas | A (ed
=) =Y uega foman < 9ar 3:

1.1-22 C-1/1 PM-2/2 M-3/3 x2
2.1-33 C-1/1 PM-32 M-1/1 x2
3.1-33 C-1/1 PM-4/4 M-2/3x%x2

4.1-33 C-11 PM-4/4 M-3/3x%x2

Correct Answer :-

e [-22 C-11 PM-2/2 M-3/3 x2

35) Which of the following options is correct about the Sexual Harassment of
Women at Workplace (Prevention, Prohibition and Redressal) Act, 2013?/
e & & 9T ATGATSA HT AT I AR Icdred (Famor, giaae s wiaar) sfef=aw, 2013
Traeft fashew gt 87

1. Every state government shall constitute a Local Complaints Committee / Y& T5%

TTHRTT FT U LT Fhraa A0t 7 T57 F347 =297

2. The total number of members of the Local Complaints Committee is 5 / ==
forrT g ifd & g aeeg d=aT 58

3. ‘workplace’ would not include dwelling place or house / FEHEIT § AT AT AT ATHA
T &
4. All of these / I9T<R T+t

Correct Answer :-

« The total number of members of the Local Complaints Committee is 5 / T+

o g afd & g aee deaT 5 8

36) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ e fFuafaRed vy o vsares e ) & R
TR THI DI AT A T2

570%x 25% + 480 x 60% -318x 32%="?

1. 329



2. 390
3.450

4,270

Correct Answer :-

« 329

37) Which of the answer figure is exactly the mirror image of the given
figure. When the mirror is placed on the line AB? / FE & & #19 W} 3w smepfa €t

TRt Uy 3rpfa Bt T gUr i gt 91a guvr Hf AB W 3T T 82

A
'!.
DA RT|S
L
B () ) © ()
1.a
2. b
3.C
4. d

Correct Answer :-

38) Under whose charge should a child be placed if the child is alleged to be
in conflict with the law? / {3 fafdr 1 Seeram w3 % forw fRrsfrara e =1 gfoe w9 €,
TS qTAH T (F § & s T H |97 [AT0m?

1. Juvenile Justice Board / et =7 @€
2. Child Care Services Association / aTeT I@HTA AT HEATT
3. State Child Board / I1% 9717 @S

4. Child Welfare Police Officer / ater searor qfere sTferspTr

Correct Answer :-

« Child Welfare Police Officer / aTar seamor qfere sTferspTr

39) On March 8, 2017, how many Nari Shakti Puraskars were conferred? / a5
8, 2017 & foraw AT 9Tf<h TLERIE U rw?

1. 20
2. 26



3.31

4. 37

Correct Answer :-

40) What amount of hospitalization expenses does the Rashtriya Swasthya
Bima Yojana cover? / SIEUdre § AT & @ i fohael LTI (YT TFTES AT AT 6 T84
Tfera 872

1. Rs. 30,000 / 30,000 =7

2. Rs. 40,000 / 40,000 &7
3. Rs. 50,000 / 50,000 &7
4. Rs. 60,000 /60,000 =7

Correct Answer :-

« Rs. 60,000 /60,000 =9

41) How many triangles are there in the given figure?/ ﬁn‘éawﬁrﬁﬁum‘fﬁ
T@r feaet 32

1.8
2.10
3.12

4. 11

Correct Answer :-

« 10

42) DIRECTIONS: In question below are given two statements followed by
two conclusion numbered I and II. You have to take the two given
statements to be true even if they seem to be at variance with the
commonly known facts and then decide which of the given conclusions
logically follows from the two given statements, disregarding commonly

known facts. /132 9 R MU U & & HU 3k I9& 916 4 e 1 3R 11 few e
213U faT 7T ST HYUAT B T AT ¢ U g1 3 Fagd a2 @ =1 udia g gt | I
frsmput o1 ufen fFe au Fifere fp feu e foeeul & & &9 -31 fAeed faw e sy &1
THUTT U I SRRV HXT ¢, I8 Fagrd a2 oo W 7|

Statements: /HY:



All men are horses/H‘l-ﬁ &ITa'lﬂ,iﬁ%%

All horses are elephants/J% 918, g1 €

Conclusions:/ﬁlﬁﬂf:

I. All men are eIephant/H'l-ﬁ GITE."Fﬁ, BT?ﬁ%'

I1. All elephant are men/ﬂ‘l-ﬁ ETQﬂ, GI'IEFﬁ%

1. If only conclusion I follows /ﬂ%%ﬂﬁ'@‘ﬁl GENTUTW%

2. If only conclusion II follows/afe &ad fAsHY 11 &WW%

3. If either conclusion I or II folIows/Hi%tlTFﬁﬁrEb‘Gf 1397111 GENTUTW%
4. If both conclusion I and II follow /?I%$%Fl I 3R II A S@TUTW%

Correct Answer :-

. If only conclusion I follows /3f¢ Had fsHY 1 SIER0 &l §

43) When was the Rajiv Gandhi National Fellowship scheme introduced? /
Trofte et T BT TS 7 M HiAd a9 o FBrar T=am?

1. 2004-05
2. 2005-06
3. 2006-07
4.2007-08

Correct Answer :-

« 2005-06

44) Which of the following database object hold data? / fA9 # & ®19 |1 e9H
Jfssiae a1 AT 82

1. Tables/ o
2. Forms / BI&d
3. Reports/ Rardd
4. Queries / EeR]

Correct Answer :-

« Tables/ R[]

45) Which of the following diagrams shows the correct relation among
Football Player, Cricket Player and Student? / frrafeafaa # 9 F19-91 sIRE



Ppeara faarst, forde faardt sk faendf & &= adt day o1 wefkia #=ar g2

&
,@

3. L. &

. @

Correct Answer :-

46) Rajiv Gandhi Panchayat Sashaktikaran Abhiyan seeks to strengthen the
Gram Sabhas in Schedule areas. / TSha ey g=maa gerReeCor srfv=m= 1 ey
& T T ST | UTH TATSA T FLATHHLIT FFAT FTT?

1.V

2. VI
3. VII

4. VIII

Correct Answer :-

eV

47) Mechanism to protect private networks from outside attack is/ dTg¥ &

g | fAi Aead @t v & fag s-a1 @ 82
1. Firewall/ BTaRaTd

2. Antivirus/ TEaRRY

3. Digital Signature/ f&fsied gxaer

4. Formatting/ TTHTeT

Correct Answer :-
. Firewall/ BRIRATA

48) What is Dual Stack? / SJd WP R 32



1. Where we put routers / S8 8H ¥ex 39T &

2. An algorithm to connect Routers and Switches/ ¥ex 3R f&=q Hae H34 & o T
TR

3. An interface supporting both IPv4 and IPv6 addresses/ U Sc%bd Sl gl 3fsuldl 4
3R 3MEUdT 6 U BT gHAT BT §

4. Where we put switches/ 58T §H- =g w@1 €

Correct Answer :-

« An interface supporting both IPv4 and IPv6 addresses/ U G Sl g1 SATSUE! 4
3R TSUtd! 6 Ud &1 HYT BT &

49) The constitution of Internal Complaints Committee has been made
mandatory under the - / % & & F99 AT&H=w7 * e srafa frewraa afata 1 w9
s A < AT g2

1. Indecent Representation of Women'’s Act, 1986 / \fgaTaii & srgfter wiatafarea ()
sferfRam, 1986

2. Sexual Harassment of Women at Workplace (Prevention, Prohibition and Redressal)
Act, 2013 / HTZATSH &1 FTFEAST T A Iedtew (Fareor, gfatrer s gfaar) sfafa, 2013

3. Immoral Traffic (Prevention) Act, 1956? / s=fde Ig=aTaT< (TshaTw) sfarfaera, 1956

4. Prevention of Women from Domestic Violence Act, 2005 / =< 88T & ®igaT dvean
sfafaara, 2005

Correct Answer :-

« Sexual Harassment of Women at Workplace (Prevention, Prohibition and Redressal)
Act, 2013 / AIEATS T FEEIA I AN Icdted (Fareor, gfatrer sz sfaar) sfafa=s, 2013

50) Swachh Swasth Sarvatra scheme is a mix of - / T&=g Taey a7 Aw & ¥ F94
It 7 fHsor g2

1. Swachh Bharat Mission and Kayakalp / == ama If9am sfi¥ swramaed

2. Swachh Bacche Swasth Bharat and Swachh Bharat Mission / ¥a=g ag Fa€ 9T8d 3T
=g, WA ATHATT

3. Kayakalp and Swachh Bacche Swasth Bharat / #TaTeeT ST Ta=g 9 F9€T 9d

4. Swachh Bharat Mission and Pradhan Mantri Swasthya Suraksha Yojana / F&=g \1Zd
ATHITH 3T TLTH HAT TeeT FLAT TS

Correct Answer :-

« Swachh Bharat Mission and Kayakalp / &&= 91ea AT 3ii¥ wramsheq



DIRECTIONS: Choose the missing terms out of the given alternatives./ﬁﬁ!&:
g e Rrpedi & @ g Ue) P 91 Y |

cab__c__bdca__d__ abd

1. dabc

2. ccaa

3. bcda

4. abcd

Correct Answer :-

« dabc

52) Human eggs are:/ HJH FIASTAE
1. Mesolecithal/ HIIIRIYd

2. Microlecithal/ mﬁ'&fuﬂ

3. Alecithal/ GIbgI

4. Macrolecithal/ HpIARIUS

Correct Answer :-

« Alecithal/ THBA

53)

Rs.62,000 is divided among A, B and C in the ratio of

of the greatest and the smallest part is:/ %.62,000 3 A B MR cH
3uTd H el SITdT 8 196 T3 3R a9 Bl YT &7 3aR gh:

1. Rs.16000/ %.16000
2. Rs.14000/ ®.14000
3. Rs.12000/%.12000

4. Rs.18000/%.18000

Correct Answer :-

« Rs.18000/%.18000

54) By selling a plot for Rs.90,000 a person losses 10%. At what price should he

sell it to gain 10%? /A Y@US HI ¥.90,000 F 9T TR TP A DI 10% P 11 B<ll B
10% T ATH UTW B & ¢ 98 39 fohd geg W aa?



1. Rs.90,000/ %.90,000
2. Rs.115,000/ *®.115,000
3.Rs.110,000/ %.110,000

4, Rs.105,000/ ®.105,000

Correct Answer :-

« Rs.110,000/ %.110,000

55) In which year was the Protection of Children from Sexual Offence Act

passed? / T3 HT AT rqerent & g2eror srfarfaaw fre 9 & ol frar wam?
1. 2010
2.2011
3.2012

4, 2013

Correct Answer :-

« 2012

Topic:- Grad_Managerial Skill

1) Suspense is a feature of:/ JTHIY (THH) P fawar 8:
1. Bar chart/ &8 dfe (IR @19)

2. Pictorial chart/ ETét® dfeeR (fUeeifad arc)

3. Strip tease chart/ Id e 4 (KU W qIe)
4. Pie chart/gud@s R (aré =1E)

Correct Answer :-

« Strip tease chart/ @S A (g et aT1¢)

2) The definition of communication implies that:/ I9R &I UfXYTST &1 nfifa aref @
.

1. Communication is mostly verbal/ IR 3ifeixd: Mfead (MAH) g1 8
2. Communication is mostly written/ J9R 3ifieiera: fofad gar g

3. Most communication is in a vertical direction/ IfIHI TR Hd G & g1 8

4. Understanding must occur to have communication/JdR H & o U IS |



Correct Answer :-

« Understanding must occur to have communication/JdR CECK: ]%I(f U AR D %
3) Which group comes by law?/ $H-01 G4g faf¥l (F17) gR1 97471 82

1. Marriage/ faare

2. Engagement/ Jaydl

3. Courtship/ S/ (HICRT)

4. All of the above/(fq?iaﬁ ekt

Correct Answer :-

« All of the above/(fq?iaﬁ ekt

4) Origin from same ancestors are known as:/ JHF [dol d g4 &I

PEd ¢

1. School/ faemer™

2. Kinship/ RRIER]

3. Neighbourhood/ &W-Tsﬁﬂ

4. None of the above/3Widd & ¥ &S g

Correct Answer :-

« Kinship/ RG]

5) What is the period of First Five Year Plan?/ tl'(a‘?ﬁ Tgau g i &1 3rafiy <t
1. April 1, 1952 to March 31, 1953/1 3/0d, 1952 ¥ 31 AR, 1953

2. April 1, 1951 to March 31, 1956/1 3{Ud, 1951 ¥ 31 AT, 1956

3. April 1, 1954 to March 31, 1957/1 30, 1954 ¥ 31 HTd, 195

4. April 1, 1953 to March 31, 1958/1 3/d, 1953 ¥ 31 A, 1958

Correct Answer :-

. April 1, 1951 to March 31, 1956/1 3@, 1951 ¥ 31 A, 1956

6) The outline of second five year plan was made by-/ Wff teadfa gieT a5t
Ol = gerit <&t

1. Charan sing/ @Rl Rig



2. Fazal Ali/ i@ 37ci!
3. P. C. Mahalanobis/ T, TI. AgTaMITeY
4. Kunjru/ $o®

Correct Answer :-

« P. C. Mahalanobis/ Ut. Ift. #gTamIfag

7) Fees are required to be a part of which social group?/ f&a | T g &
YT & &Y H Y[eD] BT -1 IAD 82

1. Family/ gRdR

2. Neighbourhood/ S{W-U@H
3. School/ foemem

4. All of the above/ Iudad Wit

Correct Answer :-

« School/ faeme™

8) is vested with democratic style of leadership:/ ﬁﬂ?q' L4
eartwe At | fAafea &

1. Negative motivation/ THRIH® UM
2. Centralization of authority/ UTfIBR BT HHIHT
3. Decentralization of authority/ UT9®R &7 f[db-<imul

4. One way communication/U&-dRWmI YR

Correct Answer :-

O o

« Decentralization of authority/ ISR &1 f[ddb-<iHul

9) If the group have both ability and willingness to work the suitable
leadership style is:/ af¢ TYg & S HI Bt FHgar 3R 35T a1 gl af UGS A
relt g

1. Telling/ Sa1/&gAT
2. Selling/ ST
3. Participating/ HTT o1

4. Delegation/m (?Iff ‘v'ﬁ"CHT)

Correct Answer :-



« Participating/ YT QT

10) Who prepared the Fifth Five Year Plan?/ UT=dl taaufa aieAr faa auR &t
g2

1. Mahalanobis/ HgTa-Ifad
2. K. C. Panth/ &. . ot
3. Vaghela/ ardel

4.D. D. Dhar/St. 8I. 4R

Correct Answer :-
« D. D. Dhar/3l. 8. 4R

11) All of the following are personality characteristics that are associated
with individuals who emerge as leader except:/ E'ﬁ T frer %ﬁ?s’ P 3= gt
faPer Aqa®dl & U H IURA aTa Afwal § iR afeaa sifirae §2

1. Emotional stability/ HTdATHD fRRar

2. Agreeableness/ Tad (T8Hd B &1 S5g® &)

3. Extraversion/ H%@@ g

4. Openness to experience/ 3IYd & foIT Gara= gl

Correct Answer :-

. Agreeableness/ fOTar (Y8Hd 811 &1 g BI-T)

12) communication is also known as grapewine:/ AR B Yy
(Iyarg) AR W FEd &

1. Formal/ KIEIRGa

2. Informal/ ARG

3. Lateral/ HT%

4. None of the above/IWRIad & ¥ BT Tal

Correct Answer :-

e Informal/ SIS

13) Agroupis a of different personality:/ d9g, s safeaeal ®1/#
_ ®ars:



1. Unit/ 3T

2. Tradition/ TRERT3{T

3. Skill/ PR

4. All of the above/3udad I+t

Correct Answer :-

. Unit/ S&TS

14) Planning commission was established by Government of India in-/ HRd

PR A ¥ ST STIRT ®Tfe fopar r:
1. January 1949/ SHa3l 1949

2. February 1951/ ®Rax! 1951

3. March 1950/ A/ 1950

4. May 1948/4% 1948

Correct Answer :-

« March 1950/ A/ 1950

15) A leader who is honest in speech and upright in character exhibits- /St

Aqeadal 3T WU A IR A SAFER AT ¥ ag___ exfar @
1. Patience/ erf

2. Servant hood/ Yd&d

3. Integrity/ AT

4. None of these/ 38 ¥ &3 gl

Correct Answer :-

« Integrity/ TS

16) The d_esire to reach to the peak to one’s potential is called:/ 3 A &
MY a9 g Ft 3T B PEd B

1. Self-actualization need/ WY[d (3T & |IY) D HTAIDHAT
2. Safety need/ JR&T &1 TAGDH T
3. Esteem need/ G &1 HTaRIH

4. Social need/IM™IN® ATTTHT



Correct Answer :-

. Self-actualization need/ WY (W & TY) HI MIGH T

17) Common language is a factor of which social group?/ ITsT HTHT fFd
HTHTITS TG BT g 32

1. Political group/ JSHfd® g
2. Family/tIﬁTﬂT
3. Clubs/ ¥d

4. Crowd/*1g

Correct Answer :-

« Family/ ORaR

18) “Leadership Motivates the people to work and not the power of money”,

this concept is related to:/ “Aqgd AN &I ST HA & o€ Afva H=ar 3, 47 &t ufea
T8, Ug STURM q R §:

1. Autocratic model/ PR/ TH T Algd
2. Custodial model/ ftReft Ared

3. Supportive model/ &Iﬂtﬁw Aigd

4. Collegial model/dgd/Hsclt AlSd

Correct Answer :-

. Custodial model/ 3iftReft ATsd

19) A leader should not /Aqeaddl i &l g TTfee/Tel afeu:
1. Be confident/ STAGYT IIUT

2. Magnify his achievement/ 3T Iufe ﬁw-ﬂam ¢a™

3. Receive encouragement/ H\I&llsd Tt hHAT

4. None of these/ ?Fl'ﬁr J ﬁ'ﬁ‘ ol

Correct Answer :-

« Magnify his achievement/ 3T Ut B del-dgl P e




1. Personal approach/ Sfadid ggfd
2. Farm approach/ ®TH Ugfa

3. Group approach/ Ifg® Ugld
4. Mass approach/9ds Ugfd

Correct Answer :-

« Group approach/ IMfg® Ugfd

21) Intervals are a feature of which type of chart?/ 3—?Id, f5g yvor & IRm
(@ré) @t fa=ivar g2

1. Time table chart/ JHI-IRUt A=
2. Line chart/iET IR=

3. Bar chart/ &3 dfed (IR d1¢)

4. Graph chart/ 3T Ife (% d1¢)

Correct Answer :-

. Time table chart/ 9HI-IRUN IRF

22) The Atomic energy commission of India was started during:/ HIRdd

URHTY] SHolt ST & IR R fHar war or:
1. First Five Year Plan/ Ugcl Ugaug TroiT

2. Third Five Year Plan/ Tr<l daasifer Ao

3. Fifth Five Year Plan/ Ufgd! deasfa aierHT

4. Seventh Five Year Plan/ITad] Ugauig a1

Correct Answer :-

« First Five Year Plan/ Ugdll UIdST el

23) The technique of “sociometry” to measure social relationship was

developed by:/ ATHING = BT ATYT HI I “JHTSTH " ATHE dH-1H 3
fawia ot 4t

1. Maslow/ﬁ,ﬁﬁ

2. James victor/ S fdaey

3. Jacob Moreno/ Sidd HIRAI

4. Feredic Herzberg/w Eﬁh‘f



Correct Answer :-

« James victor/ o faaex

24) Which Five Year plan was termed as “India’s Educational Plan” by
Manmohan Singh?/ {53 teadfa @iw=1 &) 9=we Rig 3 "HRa @1 Rren e Fen
yr?

1. Ninth Five Year plan/ Fidt taafa g

2. Tenth Five Year plan/ <dd! Ggasfa aiemT

3. Eleventh Five Year plan/ ®Rgd! Udasig areT
4. Twelfth Five Year plan/dRgd daayfa areT

Correct Answer :-

. Eleventh Five Year plan/ TRgd! Ggayfg g

25) Green Revolution resulted in advanced agriculture in India during:/

& R R P1f=T A HIRd § ST & Iad =T
1. Second Five Year Plan/ a3 Uaayfg arorT
2. Fourth Five Year Plan/ Tt Gaauia Ao
3. Sixth Five Year Plan/ @&d! Udaylg drei1
4. Eighth Five Year PIan/mﬁﬂa’ﬁq ST

Correct Answer :-

« Fourth Five Year Plan/ Sdt Uoaufg dierHT

26) Which Five Year Plan was in progress during the celebration of 50 years

of India’s independence?/HRd & Wdadl & 50 TUT & IHd P SR P-4 Tadly
IS 9 Tel A2

1. Sixth Five Year Plan/ ©ad! Ugaug areiT

2. Seventh Five Year Plan/ 9Tdd} t=ayfg gieHr
3. Eighth Five Year Plan/ 334! Geasfa i
4. Ninth Five Year Plan/ df U=asfg aeiT

Correct Answer :-

« Ninth Five Year Plan/ i} Ueasfg e



27) Leadership is 1 /I e

1. The process of influencing a group towards the achievement of goals/ SHg & d&dl
&t I ot fo=m § gutfad o= &1 ufesan

2. A group that achieves goals/ W& Ut &= dTell 998

3. The function of influencing a group towards the achievement of goals/ 9%g ARl
®1 UG &1 = & uifad & &1 gt

4, Directing a group towards the achievement of goals/ 9¥g P! a9l BT U ot fozm o
SR w

Correct Answer :-

« The process of influencing a group towards the achievement of goals/ 9Hg DI A&l
&t Ui ot fo=m § gurfad o= &1 ufeean

28) National planning committee is appointed under the president ship of

Jawaharlal Nehru in-/ It smatsn wftfa #1 fgfet sarevara A5 @t srwardr §
af # o T @

1. 1930
2.1932
3.1936
4. 1938

Correct Answer :-

- 1938

29) Members in Friend circle are a type of which social group?/ fiI7 isdt &
e ¥ YR &1 ARG 99E &2

1. Out group/ SEHHE (3M3e-TU)

2. In group/ 3R (39-H)
3. Functional group/ FHrafEs dHe

4. Political group/Toifde T

Correct Answer :-

. In group/ 3HE (37-7U)

30) Frequency of interaction is a factor of which group?/ 3=ifshal H TRFERT
P 9Yg &1 U &2

1. Primary group/ W4fH& DR



2. Political group/ JSIAfad T

3. Small group/ Y g
4. Income group/31d 9Hg

Correct Answer :-

« Primary group/ TYfreh g

31) In which year was the Twenty Point programme of India launched?/ HIRd

BT 1 T SR (5 ad Rmy gar 4r?
1. 1970
2.1975
3. 1980
4. 1985

Correct Answer :-

« 1975

32) Example of graphs are:/ 3{Ta @ (JATH) P ICIST0T &
1. Area graph/ AAB T

2. Line graph/i@ 3G

3. Bar graph/ GSlcd

4. All of the above/B’q?j,aﬁ gt

Correct Answer :-

« All of the above/GCPjTﬂ ekt

33) The least used communication channel in an organization is usually:/

e # AR W HAR AT (A7) HT STANT 99 HH gidT 8:
1. Upward/ SUiEl/Sedat

2. Downward/ G{?ﬁH@

3. Diagonal/ fa@of

4, Horizontal/aﬁ\_ﬂ

Correct Answer :-

. Horizontal/aﬁ\_ﬂ



Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that follow./
= fFrrafafEe T @ wrgde tees 39 1 5 T sgfasal uxl o 98t fawea &1
T DN |

Some basic communication skills, can be broken into two categories; verbal
and non-verbal. Within a professional realm, whether talking/listening to a
boss, co-worker or client. There are appropriate speaking tones and pitch, in
informal conversation, formal conversation and formal presentation. When
speaking to others, not only the spoken words formulate their evaluation
and interpretation of what was just said, but also how the words were
pronounced, the rhythm, emphasis, tone and pitch. Before any conversation,
presentation, or phone call conversation arrange your thoughts and
structure your conversation, this will keep you on the right path and not
forget important points. But also, allow for flexibility if the conversation
sways from your outline. At the beginning of the conversation, it is valuable
to point out an overview of the topic and points you are going to be
discussing, this engages the listener and informs them before the discussion
commences. Another skill to acquire before a conversation is to ask how
much time the listener has to converse, try to keep within this time, to not
misuse the person’s time. While conversing, refrain from slang, gossiping,
lying, exaggeration, constant criticism, negativity, offensiveness, and
profanities, as they may not only offend and irritate the listener, but you will
also lose credibility, and not provoke professionalism. A few things to
remember are; use clear pronunciation, speak slowly, use correct grammar,
be clear, and don’t use certain words repetitively to keep the listener
interested./

T ATTCT GATT HITAT HT &7 ATOFT | FIeT ST ThaT & ATfoxh (HTTEH) < LTI
A & HQL, T, GHHAT AT FATSE § 9ATg AT gl AT IH FAAT| SEIIATI Sra41d,
AT STa=ia S Sia=TiaE Teqia | T T STIH YL (AZST) i 1A (FILHH) g
&l TEU & A g9, T Had a1l §U M5l °, Fiodh I I=AT & ALk, 9, L, L 3l
AT & oY, ST GeAiehe a7 -1+t ST ST T4T o7 ITHT oref qF grar g et ofF
JTAATT, TEIIA AT Bl DA qTAANT § Tgol, I (AT Rl SHARTT HL A S AqAT JTqAq
T T GCAAT QAT FX A, T AT GGt AT I T TR S AZA g AgE AT T q7 &,
i AT AT FILET T ATST TE-SYL gedT § AT AA AT ST T HL| Sra=0d 6 LA
#, 59 fawa ua fogei & dfem e #1 ST w3 397 9gaaqut grar § e 9 o == w3
ST TR &, S99 ST 97 g1 S7a7 & < =1 3 g9 ° I8 U A1t {3 ATt 8
FTAAT F TEA SO HLA ATAT U ML AT §, TG & T8 TSAT 19 STIAT & ITH ITq<0d HLA o
org fopaqaT a9 §, 91 T ST 99T o QX T@AT, TIT AT & GHT T FEIANRT A1 HLAT
T HLA AL, ATAT TTUT, TILMT, S A, TET-FET HL qTq HIA, AT SAA AT FHLA,
THTHGAT, ATHATATAHAT L THAFIAT H T4, FA( 6 579 7 ol FdT ATATAT ST IAfora
BT STTURIT, Sfedh ST WT STaT freqa=aar @r <3 qAT YA W& (FATIATIARAT) T T "5l
FOT| TS TEA AT T (g T THIE &, T ITAT <, e THT T & A, Tat SATHRTT TR0
T, TTY T 3T oA1aT i & F97C Ta= F fore =5 ersal &7 I1-am T 7 F:3

Which are the two communication skills discussed in this comprehension?/

oreE § T O TR Fret @t et @ T 22




1. Verbal & Non-verbal/ Rfeq® Td 3RMeGH
2. Formal and non-formal/3uaies Td 3HIU=TRG
3. Interpersonal and intrapersonal/ 3fdRaafddsd Td iardufadd

4. National & International/I¥1d Td SRIFT

Correct Answer :-

« Verbal & Non-verbal/ ¥fsc® T4 3fLMfecdh

2) DIRECTIONS: Read the passage and answer the questions that
follow.f~éxr: fFafaRaa e & eyde ygs? 3u® A o 4 agfawad u=al & adl
fawea o1 9aa B

Some basic communication skills, can be broken into two categories; verbal
and non-verbal. Within a professional realm, whether talking/listening to a
boss, co-worker or client. There are appropriate speaking tones and pitch, in
informal conversation, formal conversation and formal presentation. When
speaking to others, not only the spoken words formulate their evaluation
and interpretation of what was just said, but also how the words were
pronounced, the rhythm, emphasis, tone and pitch. Before any conversation,
presentation, or phone call conversation arrange your thoughts and
structure your conversation, this will keep you on the right path and not
forget important points. But also, allow for flexibility if the conversation
sways from your outline. At the beginning of the conversation, it is valuable
to point out an overview of the topic and points you are going to be
discussing, this engages the listener and informs them before the discussion
commences. Another skill to acquire before a conversation is to ask how
much time the listener has to converse, try to keep within this time, to not
misuse the person’s time. While conversing, refrain from slang, gossiping,
lying, exaggeration, constant criticism, negativity, offensiveness, and
profanities, as they may not only offend and irritate the listener, but you will
also lose credibility, and not provoke professionalism. A few things to
remember are; use clear pronunciation, speak slowly, use correct grammar,
be clear, and don’t use certain words repetitively to keep the listener
interested./

T ATATIT TATT 1AL T T AT | F{T T GhaT §; ATfeaaw (HITEH) i Aemfeas
AT AT & ST, T, GEHHT AT FATSE & AT TAAT g1 AT S GAAT| ARTIATI Arq41d,
AT STa=ia S Sia=Tie Teqia | T T STLH YL (AGST) 3 ATCA (FILHT) g
& TN § TIAd 9T, T Had dio §U M1 9, Fiodh IeTeh IoAT & qLieh, a7, T, L T
AT & oY, ST GeATeha a7 THI-3T+fF ST AT 9T o7 IHHT oref qF grav &) Fweft ofF
JTAHNT, TEIIT AT BT Fi STAHNT § TgA, A (AT T AATRAT HFT o 3T Tq+AT Fra=ia
T T GCAAT QAT FX A, T AT Gl ART I T T30 S AZaqU g AgE qAT| I a7 &,
i aTa=a TRt TIET T VST TER-SUT FAT & aF Ftaraer ot w&T ) SraEa F ;e
#, 39 A ug fegelt & gfera faeor &1 SHa #T <A1 Agaqur grav g o 9% o ==t <
ST g 8, S99 SA1qT T g1 STAT § 3 FAT LA BIF T Uge S AT THA ATAT B
ATAATT & TEA AT hEA ATAT U 3T FIAA &, T8 & T8 TRAT T 14T F 979 qra=iq 3 &
org forqaT a9 §, 91 1 ST 99T & SQ¥ T@AT, TIT ATh & GHT T FEIART qg1 HLAT




ITT HLA T, ATAT TTUT, TILAT, S A, TET-FET FHL JTq FIA, AT SAATFAT LA,
THRTCHRAT, STTATASTARAT ST AAFIAT & T4, FI11% 9 7 Hael AT ATATAT L AT
BT STTUST, Sfedh T WT o=t freqa=aar @r <& AT YA W@ (FATAATIARAT) T T gl
FGN IS @A ATTF FG, [6g 50 THIE §; TTL I=a10 H, dfiH{y T & TIA, T8l SATHRLT TI0T
T, TTY T 3T o{1aT it T T97C Ta= % 7T =5 st 7 S1-a1 T T H:3

When speaking to others what is a matter of concern?/ §'\‘R3f T 979 Fd 99

-t o Tgcayf gt 82

1. Pronunciation/3=RUI

2. Tone/ ¥R (dgvll)
3. Emphasis/ SR T
4. All of the above/B’q?jEH gt

Correct Answer :-

« All of the above/3Iudad I+

3) DIRECTIONS: Read the passage and answer the questions that follow./
e frafafaa T & wrydes teet 3U9d e fol T ggfased uzl & T8t faseu &1
TG B

Some basic communication skills, can be broken into two categories; verbal
and non-verbal. Within a professional realm, whether talking/listening to a
boss, co-worker or client. There are appropriate speaking tones and pitch, in
informal conversation, formal conversation and formal presentation. When
speaking to others, not only the spoken words formulate their evaluation
and interpretation of what was just said, but also how the words were
pronounced, the rhythm, emphasis, tone and pitch. Before any conversation,
presentation, or phone call conversation arrange your thoughts and
structure your conversation, this will keep you on the right path and not
forget important points. But also, allow for flexibility if the conversation
sways from your outline. At the beginning of the conversation, it is valuable
to point out an overview of the topic and points you are going to be
discussing, this engages the listener and informs them before the discussion
commences. Another skill to acquire before a conversation is to ask how
much time the listener has to converse, try to keep within this time, to not
misuse the person’s time. While conversing, refrain from slang, gossiping,
lying, exaggeration, constant criticism, negativity, offensiveness, and
profanities, as they may not only offend and irritate the listener, but you will
also lose credibility, and not provoke professionalism. A few things to
remember are; use clear pronunciation, speak slowly, use correct grammar,
be clear, and don’t use certain words repetitively to keep the listener
interested./

TG AT FATT HILTAT T QT ATOAT | T{eT T GhaT §; ATTeaaw (HITEH) i rerfeas
A & F AL, T, GEHHAT AT FATSE F AT AT g1 AT IH FAAT| SEIIATIE Sraq<d,
AT FTAATT ST FTATIE TEQIA H ST T STIH G (TFSAT) A AT (FaTHT) Bl
&l QU & A 9T, T Had ol §U M1 °, Fhodh I I=AT & ALk, 9, S, Ll




AT & T, STRT TeAThT TAT AHT-STHT ST TIAT AT AT ITHT o7 qF grar gl et ofF
JTAHNT, TEIIT AT BT Fi STAANT § TEA, A [T T FAATRAT HT o ST STq+AT Jra=hia
T TF GAAT GATC FL o, THY AT Gt AW I T R A Agea Ui 1og Aal STl I 91 &,
i T TR FALET T ATST TE-IUT FdT & aF A araer ot T2 HY| ara=id & S
#, 39 fouy ug feget & =fera fHa<or it SRra < 397 Agcaqet grar g R a2 e ==f
ST T3 &, SO SaT G &7 S7aT 8 3 F91 S B ¥ Ig 59 ATt et St /)
TN & g ATorq HLA ATAT T 3L HIAA §, T8 & Tg TIAT {6 AT &6 qTH JqA1q FLA 6
orT FoRaeT 993 §, =T &1 ST GHT & HaL T@AT, TIT SATE & 9T FT EIANT A5l HLAT|
ITT FIJ GHA, ATAT ATYT, TIAT, S 1A, TET-FET F T HLA, AMTATE AATAAT LA,
THRTCICHRAT, TTHTASTAHAT 3T THAAT F =, FAT(oh TG 7 hael SAT ATHATAT AT I
BT ST, afesd ora off et fregaeaar @v <9 AT YA W@ (FATIATAHAT) FT T T Tal
FGN ATE TEA ATT6 F, fog 50 T §; o0 I==mor 3, it afa & N, Tt sreR<or sy
L, TIY T AT AT il &= IATC T@A & (7T T M1 HT -1 TINT 7 F1

What will keep us on the right path while communicating?/ ¥R I JHY T
el g9 Tl AN R 991e W@t

1. Arrange your audience/ 30 HTdT3il BT STaRYd BT
2. Arrange your thoughts/ 30+ foaRl & afyd &
3. Arrange your things/ 30+ a¥d3{i 1 HARIT HRAT

4. All of the above/B'q?jTﬁ gt

Correct Answer :-

« Arrange your thoughts/ 30 IR & AR HIAT

4) DIRECTIONS: Read the passage and answer the questions that follow./
e fFafafea Teiw o aryde Teat 39® A fod T sgfawad uxl § 98t fasea &1
T BN |

Some basic communication skills, can be broken into two categories; verbal
and non-verbal. Within a professional realm, whether talking/listening to a
boss, co-worker or client. There are appropriate speaking tones and pitch, in
informal conversation, formal conversation and formal presentation. When
speaking to others, not only the spoken words formulate their evaluation
and interpretation of what was just said, but also how the words were
pronounced, the rhythm, emphasis, tone and pitch. Before any conversation,
presentation, or phone call conversation arrange your thoughts and
structure your conversation, this will keep you on the right path and not
forget important points. But also, allow for flexibility if the conversation
sways from your outline. At the beginning of the conversation, it is valuable
to point out an overview of the topic and points you are going to be
discussing, this engages the listener and informs them before the discussion
commences. Another skill to acquire before a conversation is to ask how
much time the listener has to converse, try to keep within this time, to not
misuse the person’s time. While conversing, refrain from slang, gossiping,
lying, exaggeration, constant criticism, negativity, offensiveness, and
profanities, as they may not only offend and irritate the listener, but you will



also lose credibility, and not provoke professionalism. A few things to
remember are; use clear pronunciation, speak slowly, use correct grammar,
be clear, and don’t use certain words repetitively to keep the listener
interested./

TG ATATIT FATT HILTAT T QT ATOAT | T{ET T GhaT §; ATTeaaw (HITEH) i Aerfeas
AT & F AL, TG, GEHHAT AT FATSE F AT AT 1 AT IH FAAT| S TIATIE Sraq<d,
TIATIE FTAATT ST ATATIE TEIA H FTAT T STIH L (FFSAT) T AT (FaTHT) Bl
&l TEU & A 9T, T Had ol §U M1 °, Fhodh I I=AT & ALk, 9, S, L 3l
AT & T, STRT TeAToh TAT THT-3THT ST TIAT AT AT IqHT 7 qF grar g1 et ot
JTAAT, TEIIA AT B DI ATAANT & Tgol, AT (AT FT SFATRIT HL A S AT JTaA1q
T TFH GLAAT AATC HL o, SHY AT Gl AW I T T AL Agea Ul T6g Al STl I 91 &,
i AT TR FILET T ATST TE-IUT FedT & AT A=A TATaeT St T2 HY| Sra=id 6 A
#, 39 fawx wa fgen & dferm e &1 /T &< 391 9gcaqul gidT g o 9 o <=1 &
ST TR &, T ST 9 g1 SATAT & 3 T9 A F ¥ I8 39 At f¥er Sref )
JTAATT o TEA AT HLA ATAT Uk AL HIAA §, TG & TG TBAT 1o AT & T Irq<41d LA 6
orT FoRaeT 993 g, =T &1 SHT 0T & HEL T@AT, TIT SATE & 9T FT EIANT A5l HAT|
T HLA T, ATAT TTYT, TILMT, S A, TET-FET HL qTq FIA, AT SAATFAT FHLA,
THTIHFAT, ATHATASTAHAT M THAFIAT F T4, FAN (6 79 7 ol AT ATATET ST IATora
BT SITUSTT, Sfesh T WT STo«t freqa=aar @r <& AT YA @ (FATIATIARAT) T T "5l
FUT| TS W@ ATIF T (605 36 T 5, T IoAT he,, fTHT A & A, @t SATHT TIRT
L, T Tg AL AT il & IATC T@A & (7T & M1 HT -1 TINT 7 F2

Another skill to acquire before a conversation is:/ CIGEIGE:] tl'b‘ﬁ 3rfSfa & &1
TP 3R I 8-

1. Time of the audience/ oYar o1 97

2. Money of the audience/ T BT o
3. Interest of the audience/ HIdl &1 B
4. None of the above/B’CIﬁER'T 7y aﬂé ol

Correct Answer :-

o Time of the audience/ odT BT g

5) DIRECTIONS: Read the passage and answer the questions that follow./
e fFafafea Tew & aryde Teet 39 A fod T sgiawedt uxl & 98t fasea &1
AT BN |

Some basic communication skills, can be broken into two categories; verbal
and non-verbal. Within a professional realm, whether talking/listening to a
boss, co-worker or client. There are appropriate speaking tones and pitch, in
informal conversation, formal conversation and formal presentation. When
speaking to others, not only the spoken words formulate their evaluation
and interpretation of what was just said, but also how the words were
pronounced, the rhythm, emphasis, tone and pitch. Before any conversation,
presentation, or phone call conversation arrange your thoughts and
structure your conversation, this will keep you on the right path and not



forget important points. But also, allow for flexibility if the conversation
sways from your outline. At the beginning of the conversation, it is valuable
to point out an overview of the topic and points you are going to be
discussing, this engages the listener and informs them before the discussion
commences. Another skill to acquire before a conversation is to ask how
much time the listener has to converse, try to keep within this time, to not
misuse the person’s time. While conversing, refrain from slang, gossiping,
lying, exaggeration, constant criticism, negativity, offensiveness, and
profanities, as they may not only offend and irritate the listener, but you will
also lose credibility, and not provoke professionalism. A few things to
remember are; use clear pronunciation, speak slowly, use correct grammar,
be clear, and don’t use certain words repetitively to keep the listener
interested./

T AT GATT HITAT HT &7 ATOFT | FIeT ST ThaT &; ATfoxh (HTTEH) < LTI
A & HQL, T, TGHHAT AT FATSE § ATg AT g1 AT IH FAAT| SEIIATIE Srq41d,
AT STa=ia S Sia=TiaE Teqia | T T STIH YL (ASST) < 1A (FILHH) g
&l QU A 9T, T Had Gl §U M1 °, Fiod I I=AT & qLieh, 9, L, L 3l
AT & oY, ST Geaieha a7 THT-3r5ft ST ST AT o7 ITHT oref qF grar g et ofF
JTAATT, TEIIA AT Bl DA ATAANT F Tgol, I (AT Rl SHARTT HL A S AqAT JTqA1q
T T GCAAT QAT FX A, T AT TGt AR I T TR0 S AZA g AGE AT T q7 &,
i A=At AT FILET T ATST T-IYL GedT & AT A AT St T HY| Sra=0d 6 A
#, 39 fouy ug feget & fera faa<or &t SRra < 397 Agcaqut grav g R a2 o =491 w31
ST TR §, SOY ST 9T g1 STaT & < =1 3 g9 ° I8 9 A<t {7 Tt 81
FTAAT  TEA SO HLA ATAT U AT 1A §, TG & Tg TSAT 196 STIAT 6 ITH ITq<0d HLeA o
orT foFaaT a9 §, 91 1 ST 99T o QX T@AT, TIT AT & GHT T FEIANRT A1 HLAT
T HLT G, AFAL ATUT, TILAT, B A, TI-FRT HL I1T HLA, AATATL STATAAT A,
THTHGAT, ATHATATAHAT S THAFIAT H T4, FA( 6 79 7 Fhaol FdT ATATAT ST IAfora
BT STURTT, Sfedh ST WT IOt freqa=aar @ <3 qAqT YA W& (FATIATARAT) T T gl
FOT| AT TG AT F (60 T THIL §; TN ITAT <, e THT T & Ik, Tat SATHTT TR
T, TTY T T SA1aT 6 & F97C W@ F forT 5 el &7 I1-am T T H:3

What will lose credibility of your communication?/ &1 YT 3MUS HEAR Bt

fyritaar @ #= e
1. Use of slang/ 3118 HTST ST IUTNT

2. Gossiping/ TTURMY

3. Lying/ Yo ST
4. All of the above/3dad Tt

Correct Answer :-

« All of the above/3Iudad Tt

6) DIRECTIONS: Read the passage and answer the questions that follow./
frdr: Fafafed e o1 wryde yeas 9@ - fgd T sgfasmadt uxil o 98t fawey &1
TG B



Some basic communication skills, can be broken into two categories; verbal
and non-verbal. Within a professional realm, whether talking/listening to a
boss, co-worker or client. There are appropriate speaking tones and pitch, in
informal conversation, formal conversation and formal presentation. When
speaking to others, not only the spoken words formulate their evaluation
and interpretation of what was just said, but also how the words were
pronounced, the rhythm, emphasis, tone and pitch. Before any conversation,
presentation, or phone call conversation arrange your thoughts and
structure your conversation, this will keep you on the right path and not
forget important points. But also, allow for flexibility if the conversation
sways from your outline. At the beginning of the conversation, it is valuable
to point out an overview of the topic and points you are going to be
discussing, this engages the listener and informs them before the discussion
commences. Another skill to acquire before a conversation is to ask how
much time the listener has to converse, try to keep within this time, to not
misuse the person’s time. While conversing, refrain from slang, gossiping,
lying, exaggeration, constant criticism, negativity, offensiveness, and
profanities, as they may not only offend and irritate the listener, but you will
also lose credibility, and not provoke professionalism. A few things to
remember are; use clear pronunciation, speak slowly, use correct grammar,
be clear, and don’t use certain words repetitively to keep the listener
interested./

T AT GAT HITAT HT &7 ATOFT | FleT ST qhaT & ATfoah (HTTEH) T srerTfea
YA AT & ST, T, GEHHT AT FATSE & AT TAAT g1 AT S GAAT| AATIATI dATq41d,
AT STa=ia S Sia=Tia Teqiad | T T STLH YL (AGST) < ATCA (FILHTH) g
& TN § TIAd 9T, T Had dio §U M1 9, Fiodh ITeh IoATI & qLieh, 9, T, L 3T
AT & oY, ST AT a7 THT-3T3F ST AT AT o7 STHT oref qF grav &) Foweft o7
JTAHT, TEIIT AT BT Fie AT  T8A, Tq (AT T AATRAT FT o 3T STq+AT Jra=hia
T T GCAAT QAT FE A, TS AT At ART I T T3 S AZAqU fog AGE AT T A7 &,
i aTa=a Tt FIET T VST TER-SUT g1 & aF = taraer ot & ) A F ;e
#, 39 A vg fegelt & gfera fae<or &1 S & <A1 Agcaqur grar g o 9% o ==t <
ST g 8, S99 SAaT 7 g1 STAT § 3T FAT LA I T Uger S AT (HA ATAT B
ATAA T & TEA AT hEA ATAT U 3T FYAA &, T8 & T8 TRAT FoF 14T F 979 qra=iq 3 &
I foFqaT a9 §, 91 1 ST 99T o Q¥ T@AT, TIT ATHh & GHT T FEIART A1 HLAT
T L FHE, ATAT TTUT, TILAT, S A, TET-FET HL qTq HIA, AT SAATFAT HLA,
THTCHFHAT, ATATASTARAT ST ATFAAT & T, FA( T S 7 Al AT STTATAT L IATora
BT ST, afesd g off st fregaeaar @v <& AT YA W (ATIATAHAT) FT T T TRl
FGA AT T ATTH F 6 30 T §; T8 I==meor 3, il afa & 9, &t Sarwor s
T, TTE T 3T SA1AT 6 T FI97C T F orT 5 ereat &7 I1-a1 T T F:3

What will keep the listener interested?/ &1 9 HidT @1 i g91¢ WA@M?2

1. Use clear pronunciation/ ¥ 3&RUl ] TN
2. Speak slowly/ et fa & Sren

3. Use correct grammar/ 9g! IR0 TN HRAT
4. All of the above/B”q?jTﬂ ekt

Correct Answer :-



« All of the above/3Iudad

7) DIRECTIONS: Read the passage and answer the questions that follow./
FrafafEa T @ aryde tee? 9@ A fod T agfawad vt § 98l fasea &1
AT DN |
Since the beginning of time, people have always been looking for means of
communication, but a way to communicate in a fast and easy way. In earlier
times, Egyptians carved on rocks, leaving records for the next civilization.
The Incans of South America knotted several colored pieces of string in a
specific pattern and had a messenger run to the next village to deliver it.
Many wrote messages on paper to be delivered by a messenger and some
simply sent a messenger to deliver the message orally. Of course, there
were many problems with these means of communication. If one just sent a
messenger, it was easy for the messenger to lose communication in the
traveling process, or one could misplace a written message. And of course
these messages relied heavily on the swiftness of the messenger, especially
in long distances. Clearly, the need for fast and easy communication was
getting higher what with different civilizations being more and more spread
out. The answer to this demand first came with the invention of the
telegraph, then the telephone, and eventually the cellular phone. And
although the invention of the telephone was a great one, there were, of
course, downsides./

T & AR § g, AT gHIM | 7 had TR & A181 3, I oo 9 IR 71 § IR
P & D! B W garw Fa e g1 Ui g9y § e & @ uR) B aRee ¥ SR 59
UPIR o 3Tel JuraT & fore efirera ot wird A1 gféror syt &t g&1 gwdr & &t 9
& B3 TN Ths! B T fIRy Ted & 7Te afed A 3R Uh IREES gRT 39 3RTA T d%
Ugard &1 Hg AR SIS R He2 G TR HATEd gRT Ugdard 3, iR $© AN HeAIed
U FR HIfEP W Uggard A1 WY ¢ fF TaR & 59 e & 91y 9ga @ gang F|
gfe forddl A BIg Ad=maTs® Wl, A WERATeP GRT AT & SRIH W Wl 9671 a7 34 fagpd
$R AT 3T T, forfaa ddxr @ +ff Tarar U1 3R 8T, ¥ WX YeRars®d ) guadl W)
FTP1 §¢ 9% R T ¥, iRy ©u @ 4t gival & arga o1 91w 7 7% fafia awanei &
SftepTfe Bad ST & 1Y, dW 9 O HIR BI ATIIPHdT gedl o et N1 57 {4 &7
TEdT ST AT (AR) & MfIspR & &9 H e, 39d a1¢ TewiA & iR Sidd: Iegar
BIH & w9 A | 3R gTaife TAEIH &7 IR TH UM AMTASHR °T, W B $8 Huai
ff of

Who carved on rocks for communication?/ SR & iU URY &1 S d=1e1d 3?2
1. Roman/ 9 & AN

2. Americans/ SMRIBT AN

3. Egyptians/ g & @

4. None of the above/IWRIad ¥ ¥ BIs ol

Correct Answer :-

« Egyptians/ firg & @



8) DIRECTIONS: Read the passage and answer the questions that follow./
fordar: FafafEa e @ eFyde tees 3ud N ol 1 sgfawal uwat & 98l fawer 1
AT BN |

Since the beginning of time, people have always been looking for means of
communication, but a way to communicate in a fast and easy way. In earlier
times, Egyptians carved on rocks, leaving records for the next civilization.
The Incans of South America knotted several colored pieces of string in a
specific pattern and had a messenger run to the next village to deliver it.
Many wrote messages on paper to be delivered by a messenger and some
simply sent a messenger to deliver the message orally. Of course, there
were many problems with these means of communication. If one just sent a
messenger, it was easy for the messenger to lose communication in the
traveling process, or one could misplace a written message. And of course
these messages relied heavily on the swiftness of the messenger, especially
in long distances. Clearly, the need for fast and easy communication was
getting higher what with different civilizations being more and more spread
out. The answer to this demand first came with the invention of the
telegraph, then the telephone, and eventually the cellular phone. And
although the invention of the telephone was a great one, there were, of
course, downsides./

TG & R F 8, T UM A 7 Had IR & AT B, 9fep a9 9 TRA &1 A TaOR
A & did! B W AT B MU § 1 U= IHT H I & @ uRR) B aRIRe A 3R 59
UPIR 9 AT FaT & fore sifirera S =T A1 gferor srifyeT &Y g&1 Jvgar & aRT urm
F B3 TN ghs! B T fIRy Te & 7Te afea A 3R Uh HRETES gRT S/ AT T dF
UgaTd A1 HF A SIS W TR oG HR HATES §RT UgdaTd A, 3R $T I WeRaTsd
U PR WGP IR Ugaard A1 WY & fF FaR & 37 J1eEl & I1Y 959 ot gawng H|
gfe feft 3 i de=maTe® U, O WIREEP gRT AT & SR A Wl 9871 a1 3 fapa
$Y AT AT T, forfQa "= @ Y Topar uT1 3R &, ¥ W1 HeRaresd & auadt R
FIBI gg aP AR Fa 3, iy o 9 &t gfal & amre &1 9w 3 o fafis awaaet &
SfPTfYe Theld ST & HIY, a9 9 Gd AR DI ATIIHT Ied! of et N1 39 A7 H7
gl STR SARIG (AR) & ISP & &4 H firar, 3ud q1g W= & 3R Sida: Aeger
B & &9 T | 3R gTaife B $1 NfIHR TH UgH AMTASHR UT, R B $B Hiuai
ff of)

Who knotted several colored pieces of string in a specific pattern and had a

messenger run to the next village to deliver it?/ PI-Y dRT YT %H’T{' LIk
gPs! B Uo faR Bed & 7 siud & 3R Ue Haxmare® gRT 39 3ATe Tid 9@ Ugdrd A2

1. South Americans/ &0l 3HRIdT AN
2. North Americans/ 3t} SMADT AT
3. Germans/ ST & @

4. Africans/ 3] & AN

Correct Answer :-



« South Americans/ Gi&0T 3HIHT AT

9) DIRECTIONS: Read the passage and answer the questions that follow./
FrafafEa T # aryde tee? U@ A foi T agfawad v § 98l fasea &1
AT BN |
Since the beginning of time, people have always been looking for means of
communication, but a way to communicate in a fast and easy way. In earlier
times, Egyptians carved on rocks, leaving records for the next civilization.
The Incans of South America knotted several colored pieces of string in a
specific pattern and had a messenger run to the next village to deliver it.
Many wrote messages on paper to be delivered by a messenger and some
simply sent a messenger to deliver the message orally. Of course, there
were many problems with these means of communication. If one just sent a
messenger, it was easy for the messenger to lose communication in the
traveling process, or one could misplace a written message. And of course
these messages relied heavily on the swiftness of the messenger, especially
in long distances. Clearly, the need for fast and easy communication was
getting higher what with different civilizations being more and more spread
out. The answer to this demand first came with the invention of the
telegraph, then the telephone, and eventually the cellular phone. And
although the invention of the telephone was a great one, there were, of
course, downsides./

TUT & AR § g, AT gHIM | 7 had TR & A181 3, I ao 9 IR 71 § IR
P & D! B W garw Fa e g1 Ui g § e & @ uR) B aRee ¥ SR 59
UPR 9 3FTel FaT & fae sifirera ois wird A1 gfeor smfyeT &Y g&1 Iaar & &t 9
& B3 TN Ths! B T fIRy Ted & 7Te afed A 3R Uh IREES gRT 39 3RTA T d%
Ugard &1 Hg AR SIS R WG G TR HATEd gRT Ugdard 3, R $© AN HeAIED
U R WGP W Ugaard A1 WY ¢ P TuR & 59 e & 919 gga d gang F|
gfe forelt 3 DI Hezae® WelT, dY YdRaTe® gRT AT & GRTF JHox @ do-T a1 34 fagpd
$R 3T 3T T, forfaa dwr @ +ff Tarar U1 3R g, ¥ WX YeRare®d ) Tuadl W)
FTP1 §¢ 9% R T ¥, iRy w0 3 6t gival & araa o1 91w 7 % fafia awaei &
SftepTfe Bad ST & 1Y, dW 9 O TOR B ATIIPHdT gedl o et N1 57 {4 &7
TEdT ST AT (AR) & MfIspR & U H e, 39& a1¢ TehwiA & iR Sidd: Iegar
BIH & w9 A | 3R gTaife TAEIH &7 IR TH UM AMTASHR °T, W B $8 Huai
ff of

When will the messenger lose communication?/ H¢EE® AR () Hd @l
SodT YUI?

1. In the communicating process/ ¥R & Ufdhar #
2. In the travelling process/ 9=l P! Ui

3. In the sleeping process/ A &1 Ufsrar H

4. None of the above/SWRIdd ¥ ¥ HI5 el

Correct Answer :-



« In the travelling process/ a1 P ufchar &

10) DIRECTIONS: Read the passage and answer the questions that follow./
FrafafEa T @ aryde tee? 9@ A fod T agfawad v § 98l fasea &1
AT BN |
Since the beginning of time, people have always been looking for means of
communication, but a way to communicate in a fast and easy way. In earlier
times, Egyptians carved on rocks, leaving records for the next civilization.
The Incans of South America knotted several colored pieces of string in a
specific pattern and had a messenger run to the next village to deliver it.
Many wrote messages on paper to be delivered by a messenger and some
simply sent a messenger to deliver the message orally. Of course, there
were many problems with these means of communication. If one just sent a
messenger, it was easy for the messenger to lose communication in the
traveling process, or one could misplace a written message. And of course
these messages relied heavily on the swiftness of the messenger, especially
in long distances. Clearly, the need for fast and easy communication was
getting higher what with different civilizations being more and more spread
out. The answer to this demand first came with the invention of the
telegraph, then the telephone, and eventually the cellular phone. And
although the invention of the telephone was a great one, there were, of
course, downsides./

T & AR § g, AT gHIM | 7 had TR & A181 3, I oo 9 IR 71 § IR
P & D! B W garw Fa e g1 Ui g9y § e & @ uR) B aRee ¥ SR 59
UPIR o 3Tel JuraT & fore efirera ot wird A1 gféror syt &t g&1 gwdr & &t 9
& B3 TN Ths! B T fIRy Ted & 7Te afed A 3R Uh IREES gRT 39 3RTA T d%
Ugard &1 Hg AR SIS R WG G TR HATEd gRT Ugdard 3, R $© AN HeAIED
U HR WGP F Ugaard A1 WY ¢ P TaR & 59 e & 91y gga W gang F|
gfe forddl A BIg Ad=maTs® Wl, A WERATeP GRT AT & SRIH W Wl 9671 a7 34 fagpd
$R AT 3T T, forfaa ddxr @ +ff Tarar U1 3R 8T, ¥ WX YeRars®d ) guadl W)
FTP1 §¢ 9% R T ¥, iRy ©u @ 4t gival & arga o1 91w 7 7% fafia awanei &
SftepTfe Bad ST & 1Y, dW 9 O HIR BI ATIIPHdT gedl o et N1 57 {4 &7
TEdT ST AT (AR) & MfIspR & &9 H e, 39d a1¢ TewiA & iR Sidd: Iegar
BIH & w9 A | 3R gTaife TAEIH &7 IR TH UM AMTASHR °T, W B $8 Huai
ff of

Why was there a need for fast and easy communication?/ A 3R WA TER &
Tazadal & A2

1. Lack of interest/ S BT UG

2. People were becoming rich/ AT R B @ Y

3. Civilization being more spread out/ ¥drd IR ARk av_cﬂ?ﬁ of
4. None of the above/IWIad ¥ ¥ &5 g

Correct Answer :-



« Civilization being more spread out/ ¥dN 3T et gt off

11) DIRECTIONS: Read the passage and answer the questions that follow./
FrafafEa T @ aryde tee? 9@ A fod T agfawad v § 98l fasea &1
AT BN |
Since the beginning of time, people have always been looking for means of
communication, but a way to communicate in a fast and easy way. In earlier
times, Egyptians carved on rocks, leaving records for the next civilization.
The Incans of South America knotted several colored pieces of string in a
specific pattern and had a messenger run to the next village to deliver it.
Many wrote messages on paper to be delivered by a messenger and some
simply sent a messenger to deliver the message orally. Of course, there
were many problems with these means of communication. If one just sent a
messenger, it was easy for the messenger to lose communication in the
traveling process, or one could misplace a written message. And of course
these messages relied heavily on the swiftness of the messenger, especially
in long distances. Clearly, the need for fast and easy communication was
getting higher what with different civilizations being more and more spread
out. The answer to this demand first came with the invention of the
telegraph, then the telephone, and eventually the cellular phone. And
although the invention of the telephone was a great one, there were, of
course, downsides./

TUT & AR § g, AT gHIM | 7 had TR & A181 3, I ao 9 IR 71 § IR
P & D! B W garw Fa e g1 Ui g9y § e & @ uR) B aRee ¥ SR 59
UPR 9 SFTeN Tl & fae sifirera ois wird A1 gferor smfyeT &Y &1 Ivaar & anT 9
& B3 TN Ths! B T fIRy Ted & 7Te afed A 3R Uh IREES gRT 39 3RTA T d%
Ugard &1 Hg AR SIS R WG G TR HATEd gRT Ugdard 3, R $© AN HeAIED
U R WGP W Ugaard A1 WY ¢ P TuR & 59 e & 919 gga d gang F|
gfe forelt 3 DI Hezae® WelT, dY YdRaTe® gRT AT & GRTF JHox @ do-T a1 34 fagpd
$R 3T 3T T, forfaa dwr @ +ff Tarar U1 3R g, ¥ WX YeRare®d ) Tuadl W)
FTP1 §¢ 9% R T ¥, iRy ©u 3 &4t gival & araa o1 91w 7 % fafia awaei &
Sftep1fe Bad ST & 1Y, dW 9 O TIR B ATIIHdT gedl o et N1 57 {4 &7
TEdT ST AT (AR) & MfIspR & &9 H e, 39d a1¢ TewiA & iR Sidd: Iegar
BIH & w9 A | 3R gTaife TAEIH &7 IR TH UM AMTASHR °T, W B $8 Huai
ff of

The demand for fast communication came with : / 9 YR B {7 BT
W ¥ frar:

1. Invention of telegraph/ U (dR) & IAHR

2. Invention of telephone/ THBHE & AMATHR

3. Invention of cellular phone/ @Fﬂ?ﬂ B & SMIHR
4. All of the above/B’q?jEH ekt

Correct Answer :-



« All of the above/3Iudad Tt

12) DIRECTIONS: Read the passage and answer the questions that follow./
FrafafEa T @ aryde tee? 9@ A fod T agfawad vt § 98l fasea &1
AT BN |
Since the beginning of time, people have always been looking for means of
communication, but a way to communicate in a fast and easy way. In earlier
times, Egyptians carved on rocks, leaving records for the next civilization.
The Incans of South America knotted several colored pieces of string in a
specific pattern and had a messenger run to the next village to deliver it.
Many wrote messages on paper to be delivered by a messenger and some
simply sent a messenger to deliver the message orally. Of course, there
were many problems with these means of communication. If one just sent a
messenger, it was easy for the messenger to lose communication in the
traveling process, or one could misplace a written message. And of course
these messages relied heavily on the swiftness of the messenger, especially
in long distances. Clearly, the need for fast and easy communication was
getting higher what with different civilizations being more and more spread
out. The answer to this demand first came with the invention of the
telegraph, then the telephone, and eventually the cellular phone. And
although the invention of the telephone was a great one, there were, of
course, downsides./

TUT & AR § g, AT gHIM | 7 had TR & A181 3, I ao 9 IR 71 § IR
P & D! B W garw Fa e g1 Ui g § e & @ uR) B aRee ¥ SR 59
UPR 9 3FTel FaT & fae sifirera ois wird A1 gfeor smfyeT &Y g&1 Iaar & &t 9
& B3 TN ghs! B T fIRy Ted & 7Te afed A 3R Uh IREAE® gRT 39 SRTA T d%
Ugard &1 Hg AR SIS R WG G TR HATEd gRT Ugdard 3, R $© AN HeAIED
U R WGP W Ugaard A1 WY ¢ P TuR & 59 e & 919 gga d gang F|
gfe forelt 3 DI Hezae® WelT, dY YdRaTe® gRT AT & GRTF JHox @ do-T a1 34 fagpd
$R 3T 3T T, forfaa dwr @ +ff Tarar U1 3R g, ¥ WX YeRare®d ) Tuadl W)
FTP1 §¢ 9% R T ¥, iRy w0 3 6t gival & araa o1 91w 7 % fafia awaei &
SftepTfe Bad ST & 1Y, dW 9 O TOR B ATIIPHdT gedl o et N1 57 {4 &7
TEdT ST AT (AR) & MfIspR & U H e, 39& a1¢ TehwiA & iR Sidd: Iegar
BIH & w9 A | 3R gTaife TAEIH &7 IR TH UM AMTASHR °T, W B $8 Huai
ff of

Which was a great invention according to this passage?/ 39 3@@‘6% SIR
PIH-9T MAHR TH HETH AfAHR U2

1. Telephone/ THUIHIA

2. Computers/ X
3. Newspaper/ JHHR-UA
4, Radio/3fsar

Correct Answer :-



« Telephone/ ¢HIBIA

Topic:- Grad_Child Care and Education

1) Permanent change in behavior is related to:/ TdgR A W URGa fead
- oﬁ %-

1. Learning/ SRg=T
2. Maturation/ BIRCER]|

3. Creativity/ goiTE®
4. Emotional/ Iaid®

Correct Answer :-

« Learning/ &

2) AIDS Cause through:/ TS %adl 8:
1. Through Virus/ ﬁTSlTUJ‘@[

2. Cough & Cold/ ﬂﬁwﬁ

3. Through Mosquito/ BT
4. Bacteria/ Sfaefan

Correct Answer :-

« Through Virus/ ﬁ'GlTE{L@[

3) Need of Protection is:/ JR&UI &I AaRghdl ______ gdl &
1. For Development/ W%ﬁﬂ

2. For Adjustment/ JH™ISH & forg

3. For Future/ Hfdsy & forw

4. All of the above/ IWRIE GHi

Correct Answer :-

« All of the above/ SWRiad g+

4) Characteristics of development is:/ fa®Tg @ faRivard = gl 8:
1. Progressive Series of changes/ faeTg ufvadi ot T umfasiia Yl



2. Orderly/ shHd&
3. Planned Process/ AoMTeG
4. All of the above/ IWRIFd gt

Correct Answer :-

« All of the above/ IURlad g

5) Important method for identification of problem in children is:/ TARTH®
TP Bt UgA DI YW Usfaal | 3:

1. Observation Method/ f<t&for fafer

2. Interview Method/ TTeTahR fafy

3. Psychological test/ ARG Tteror
4. All of the above/ SWRIead T

Correct Answer :-

« All of the above/ IWRiad FH!

6) AIMS of Pre-School Education are:/ qﬁmu%ﬁr&n%a%mwﬁm%‘:
1. Opportunities for Development/ famg & o srawR

2. Development of Aesthetic sense/ Ty ¢ SIRId BT

3. Development of Intellectual curiosity/ difae T S| ST

4. All of the above/ SWRIad Tt

Correct Answer :-

« All of the above/ SWRIad gt

7) Sensory motor stage and concrete operational stage are stages of

/ A UMY ST TUT RS WhATHD TR fF a1 & UPTR 8
1. Cognitive development/ TIATHS fahg

2. Language Development/ yTeT faer

3. Emotional/ Development/ FaiTA® fa&Td

4. Physical Development/ QRIS fdwrg

Correct Answer :-

« Cognitive development/ TMTH® fabr



8) Integrated child development services was started at:/ TdIgpd aTd fas
Jard URY Hg F T Al

1. Year 1975/ 94 1975
2. Year 1979/ a¥ 1979
3. Year 1980/ a¥ 1980

4. Year 1982/ 94 1982

Correct Answer :-

. Year 1975/ d¥ 1975

9) 1 December was celebrated as:/ 1 feTwR &I Fa1 =T SATGT 3:
1. World Environment day/ fawa yafaror feaw

2. National AIDS day/ favd ugy fead

3. World Women day / faxa #fgar fead

4. National child day/ fa%d ST fdag

Correct Answer :-
« National AIDS day/ fdzd gy faaq

10) Various aspects of development of Neonate is:/7auTd R} & fawry & fafi=
U T E1d -

1. Motor activity/ fopareiiearn

2. Consciousness/ ddHl

3. Sensivity/ Jda=iTadT

4. All of the above/ SWRIad TH!

Correct Answer :-

« All of the above/ IURIad Gt

11) Types of changes in development are:/ fa®ra # uf¥ad< & W=y 1 &
1. Change in Size/ 3THR § ufkadH

2. Change in Proportion/ 3fUrd # gfkad=

3. Appearance of New Features/ A IO BT TG HRAT



4. All of the above/ SWRIad Tt

Correct Answer :-

« All of the above/ SWRIad gt

12) Characteristics of mentally retarded children is:/ AT, ST @1 fa=iwdr
1 8:

1. Excess creativity/ Jo-=iieidl &1 SHferehdr
2. Lack of concentration/ €T &0l H &H!
3.1Q like Normal child/ gfg-afs ST dTciep] & FHTH

4. Normal of Memory/ WF{%W

Correct Answer :-

« Lack of concentration/ €50l & HHI

13) What are the chief characteristics of early childhood:/ qﬁm?qﬁwa%ug'@

1. Physical & Mental Stability/ RIS Td AFRIS fRURdT
2. Forceful Curiosity/ IR &1 Uaerdr
3. Relationship with Real World/ ardfde® S°Td ¥ ¥&¢

4. All of the above/ SWRIad Tt

Correct Answer :-

« All of the above/ SWRIad Tt

14) What factor influencing social development:/ T faeT @t gyTfaa s
914 d DI AT 3:

1. Social Anxiety/ IHI® fa=dT
2. Social Standard/ IMEIN® TR

3. Culture/ T¥&pid
4. All of the above/ IWRIad g+t

Correct Answer :-

o All of the above/ IWRIFd gt



15) is the transmission of traits from parents to offspring/

HTaT FaT @ W1 B UTe g9 9T 0T 8-
1. Heredity/ d=IIIhH
2. Environment/ dIdraruor

3. Heredity & Environment/ dRII¢hH, QTATGRUl
4. None of these/ sqfr‘éraﬂ's‘:@

Correct Answer :-

« Heredity/ d=IhH

16) What is DWCRA / DWCRA &7 &-
1. Programme for Special children/ faf¥me sTae®! & fou HRiHH

2. Programme for Health/ ¥ %ﬂ HTH

3. Government organization/ XTIH 1 I3

4. Programme of WHO/ WHO & HUHH

Correct Answer :-

« Programme for Special children/ fafre s@®! & fou wdsmd

17) Development of ability and decision making are purpose of /

qrgarst &1 faera gd fofal  weras #1385 @
1. Learning/ TRaAT

2. Maturation/ TRGeadT

3. Instruction/ FE=MA

4. Creativity/ Jo-THDdl

Correct Answer :-

e Instruction/ IBERE]

18) Analytical meaning of child psychology is:/ T AT &1 fazavoners o
T84 &

1. Positive Science/ YHATH® a3

2. Study of child from conception to Adolescence/ YR Y fHRIRTaRIT 9% dTeie &1
K lnp

3. Studies the mental development of the child/ STd® & ARG fAHTT HT T BT



4. All of the above/ SWRIad Tt

Correct Answer :-

« All of the above/ SWRIad Tt

19) Among these which is not the Theory of Language development:/ sﬁﬁ'\ﬁ

i a1 Rigr=a uTeT fasr &1 Rrgr T8 §-

1. Maturational Theory/ URuaadr Rigrd

2. Learning Theory/ 3iferm Rigrd

3. Cognitive/ Theory/ IS Rigrd

4. Psychoanalytical Theory/ TfaRATTdS R

Correct Answer :-

« Psychoanalytical Theory/ AIfORAYUTHAD R

20) Important factor in social development are:/ TS fabTH &1 W dd R

gaT 8:

1. Heredity/ d=IIIhH
2. Gender/ feii

3. Environment/ dTdrd<ul

4. Heredity & Environment/ cibalquﬂ-l 3R TdTaRT]

Correct Answer :-

« Environment/ drdrdaxul

21) Objective of ICPS is/ ICPS & W&Y:

1. Establishment of Special School/ fafarse e &1 T8
2. Awareness/ SR dl

3. Social Stability/ AT RRET

4. All of the above/ IWRIE i

Correct Answer :-

« All of the above/ IuRlad g

22)



What are the factor influencing learning process: /SIS & HRaAT Bt ufepar i
TYTTad A 1 dd B 7 8:

1. Motivation/ U
2. Reward/ QRIPR
3. Praise/ Uil

4. All of the above/ SURIad Tt

Correct Answer :-

« All of the above/ IWRIad IH!

23) Working areas of ICDS is:/ 35 Il Sl T & &1 &7 71 8-
1. Health Checkup/ W= Sid

2. Health Education/ e fRigf

3. Safe drinking water/ GRf&d U &1 Uit

4. All of the above/ SWRIad TH!

Correct Answer :-

« All of the above/ SURIdd Hi

24) Identification of creative children is:/ Go-RId ITEP] I TgaTH AT 3:
1. On Basis of Common characteristics/ JTHIRI W&l TR STeTRA

2. On Basis of Teacher Opinion/ el ot gWfd R smea

3. On Basis of Testing/ T&UN TR 3enid

4. All of the above/ SWRIdd gt

Correct Answer :-

o All of the above/ IRIFd gt

25) E.L.I.S.A. is / ufern 8:
1. T.B. Test/ 1. &t udteor

2. AIDS Test/ TSH URI&UI
3. Cancer Test/ $IR Uef0r
4. Fever Test/ @R URI&UI

Correct Answer :-



. AIDS Test/ TgH UI&[0l

26) Scheme for child protection is:/ WW&M%@W T:RIT%:
1. Integrated Child Protection Scheme/ WWWWW

2. Integrated child development services/ Udhidhd dleid fdbTd Yard
3. National child Welfare/ IS0 &I &l

4. Welfare extension project/ FH T fasIR aRESHT

Correct Answer :-
« Integrated Child Protection Scheme/ WWWWW

27) In which period internal organs development take place?/ 3{idiR® 3t &1
faera fra sraw & gar @2

1. Period of Ovum/ f&& 3@=T

2. Period of Embryo/ fUus srqmn

3. Period of Fetus/ TH® R &1 srawr
4. All of the above/ IURIEd g4t

Correct Answer :-

« All of the above/ IURlad g

28) Factor influencing child development is:/ ITd fapT ) gHTIad &4 a1 dd
w1 8-

1. Nutrition/ OISl
2. Maturation & Learning/ IRueadr Ug SiferTd
3. Family Environment/ UTRATR® aTdraxul

4. All of the above/ SURIad Tt

Correct Answer :-

« All of the above/ IuRlad g

29) Characteristics of cognitive process is:/ YT Ufsparai @1 faivand = §:
1. Perception/ U&fieRur

2. Abstraction/ 3TgfcdRul



3. Transfer/ 30l

4. All of the above/ IWRIad g+t

Correct Answer :-

« All of the above/ IURlad g

30) Stages of cognitive development is given by/ S3HTE® fa®T ot AR
frad grRT & 718 <&t

1. Piaget/ oS!
2. Freud/ IS
3. Kohlberg/ CARGUE
4. Erickson/ 3&?&?

Correct Answer :-

« Piaget/ s

31) Birth of Neonate is divided into / 1131 wra &t withar &t
sraeyreft # fayrfora faar mar-

1. 3 Stages/ 3 AT
2. 8 Stages/ 8 NIGR)| 1
3.2 Stages/ 2 3faRITY
4. 4 Stages/ 4 3fARITY

Correct Answer :-

. 3 Stages/ 3 3{qRTY

32) Name of Special Children School in Lucknow is:/ @@= fRud fasai g 7g
faemer &1 70 w1 B:

1. Chetna Center/ ELRIE S

2. Samarpan Kendra/ YU g
3. Bhavishy Kendra/ oS s
4, Muskan Center/ WW

Correct Answer :-

« Chetna Center/ QFHTW



33) Identification of mentally retarded children was done by / AT H<q
CIGCIK AR EEIE et g1 fpar Sirar @

1. Intelligence test/ g@qﬁ&m

2. Benedict test/ sAfSae Uteun

3. Psychometric test / JHISIHIT TRT&0m
4. Scholastic test/ Judis Tele

Correct Answer :-

« Intelligence test/ Tg'@qﬁ&I'UT

34) Development of nervous system in which stage of pre nature

development is:/ TR Ry @1 5w srawur & =g avea &1 fAmfor grar 3:
1. Period of Ovum/ ferg @

2. Period of Embryo/ fUTS 3fa=i

3. Period of fetus/ ﬂl@f?ﬁﬂﬁ STIR][

4. All of the above/ SWRIead T

Correct Answer :-
« Period of Embryo/ fus s/

35) National AIDS control Programme is important factor of:/ ?T@'HQW
iz Prisy &1 g -

1. Blood Protection/ Idd TR&UI
2. Help from WHO/ fa%d W I71&4 ¥ Haq

3. Help from Agencies/ Q@ﬁl@f@[ﬂﬁ?
4. All of the above/ IWRIad Tt

Correct Answer :-

o All of the above/ IWRIFd gt

36) Family faulty discipline and over protection are cause of which problem:/

RaR &1 ruyut SRIaH Te 3rfe TR&UT fory THAT &1 HIROT 8:
1. Backward children/ fU&d aTd®

2. Problem child/ IH-T dlcidh



3. Deprived children/ 3ddfud aed
4. Maladjusted Children/ SR STddh

Correct Answer :-

e Problem child/ IHHI STl

37) Aspects of development are:/ fd®TI & & 71 I &
1. Biological Aspect/ Sifa® g&f

2. Social Aspect/ ITHIS® T&f

3. Biological & Social Aspect/ ST qur IraTIE Ter

4. All of the above/ IWRIad g+t

Correct Answer :-

. Biological & Social Aspect/ ST auT JrTRTE Ter

38) Process of Social Development is:/ et faeT ot ufshar & §:
1. Negative/ [BEUIREED

2. Positive/ HdIHD

3. Negative and Positive/ FYUTHS Td TATHS

4. None of these/ sﬂﬁﬁaﬂs‘ﬁ

Correct Answer :-
. Negative and Positive/ FYUTH® T4 RATHS

39) Sentiment, meditation are necessary factor of / '\‘ﬁET-IT, = foem
faPra & smavu® da 8:

1. Emotional Development/ LRI CA TR

2. Cognitive Development/ gSIHTHSD fa

3. Language Development/ HTNT fasbr
4. Aesthetic Development/ Ji<d aiY fde™

Correct Answer :-

« Cognitive Development/ goHTd® fdh T

40) Principles of ICDS is:/ 3 ¥} St v¥ &1 Rigr— 1 8:



1. Child is the future human capital/ dicih wﬁmaﬂnﬂaqsﬁ%
2. Pre-School Education/ Jd g fRiefon

3. Preventive Help/ faR® darg

4. All of the above/ IWRIE G4

Correct Answer :-

« All of the above/ IWRIad GH

41) Full Form of WHO is:/ WHO &T TRT ATH FIT § -
1. World health organization/ fd%a Wreg e

2. Wide health organization/ fa%&d e dva-

3. Whole health organization/ J¥Ul WA T

4. All of the above/ IWRIE G

Correct Answer :-

« World health organization/ fa%a e Twa+

42) What is the educational Quotient (EQ) of Backward children?/ fUgs @it &
I B A afs fpast gt :

1. 155 and more/155 T4 3{f¢id
2. 85-155/ 85-155

3. 70-85/ 70-85

4. Less than 70/ 70 § &H

Correct Answer :-

« 70-85/ 70-85

43) Development of bones is related to development:/ 3fRmEY @1
faera fora faera @ Hdfta @:

1. Physical/ RIS

2. Motor/ febarcian

3. Play/ &

4. All the above/ SWRId G+t

Correct Answer :-



« Physical/ RN

44) Foundation of national AIDS control organization is:/ IS¢ TgH fiz0r
TS B RITYAT Hd Bt TS A -

1. Year 1991/ 94 1991
2. Year 1993/ 9% 1993
3. Year 1992/ a¥ 1992

4. Year 1990/ @ 1990

Correct Answer :-

« Year 1991/ 94 1991

45) is the molecule of Heredity/ 3raifRI&dr & 3] & -
1. D.N.A./SI.TAT.

2. R.N.A./3REAT
3. Both of the above/ RLRES AR
4. All the above/IWRiad g

Correct Answer :-

« Both of the above/ IURIad i



